
Type: Date: 01.12.2024
Checked By: AMc

Supplier Code Item Qty Location Alt Supplier

Dundee Bearings 6202 Bearings 12 A5
Ashton 63190 Timing Belt 0
Rs 7431331 Swan castors 60 Floor
Ashton 026-0000-03-105 Filter For Vacuum Tubes 6 A23
Ashton 031-0000-01-500 Top Roller tyre 5 Shelf Bin
Ashton 031-0000-01-503 Nylon Star Wheel 5 A19
Ashton 031-0000-01-S09 Helical Gear 5 A5
Ashton 031-0000-02-501 Nylon roller block guide 0
Ashton 031-0000-02-501 Top roller guide 0
Ashton 031-0000-03-105 Motor Sprocket 1 A5
Ashton 031-0000-03-106 Shaft Sprocket 0
Ashton 031-0000-03-501 Drive Shaft 1 Corner of Shelf
Ashton 031-0000-03-501 Drive Shaft 0 Outside Store
Ashton 031-2800-02-000 2.8M top rollers 0
Ashton 037-0000-17-011 Vacuum Chamber 0
Ashton 037-0000-20-106 Water Tray Filter Mod 1 A6
Ashton 040-2800-14-102 Shaft 0
Ashton 040-402-01-110 Shaft 0
Ashton 040-4028-01-111 Shaft 0
D'Dee Bearings 1020-20 Drive Shaft Bearings 6 A22
ScotsBearings 1SI50DH-IEC90-90L/2F Motor Gearbox Combination(Wash infeed conveyor) 0 Bottom Shelf
Dundee Bearings 36004 S/S S/S Bearing Insert 0 A9
Diaphram pumps 476-V007.000 Air Side overhaul kit 0 Shelf
Dundee Bearings 6000-C-2Z Bearing 54 A7
Dundee Bearings 60042 S/S Stainless Steel Bearings 0
Dundee Bearings 60042RS Bearings 1 A5
Dundee Bearings 6004ZZ S/Steel Wash bearing 8 A5
Dundee Bearings 6005 2RS Bearings 3 A5
Dundee Bearings 6206-C-2Z Bearing for vacuum motor 1 A7
RS 648-6416 Phoenix Contact 3 pin 5 A4

Ravensby Glass Engineering Stock Take

Ashton Ind (Arrisser/Wash)



Pumps Direct 8048tmxc Water Pump 0
Dundee Bearings 8mmpoly 8mm belt 0 A23
Dundee Bearings A41 / 1070 V-Belt 5 Hanging on Rail
NDC B&R Servo Drive 8LSA45.EA030D000-3 1 Reconditioned

BG 10P45-11 Emergency stop 0 A5
BG10P45-11 Emergency Stop 0 A5

Dundee Bearings CDG1BA40 SMC Cylinder 0 Next to shelf
Dundee Bearings CDG1BN40 Cylinder 4 Bottom Shelf
Dundee Bearings CW95 Heavy Duty Wiper 5 A17
Variohm Eurosensor E24-23 Linear Transducer for wash Height 2 A8
Moser Electronics E3S-LS10XB4 Omron Yellow Sensor 0

E3Z-G81 Switch 1 A1
Pump Action E5PP6X659D Versamatic Pump 1 Shelf
Diaphram pumps E5P-XL-kit Wet overhaul kit 0 Shelf

ELPM25 Wash Transducer 0
Dundee Bearings KH2540pp Linear Bearing 2 A7

LMV210-30 Atomiser 2 Floor Bin
Keyence LV-N11P Amplifier for LV-S62 1 A10 Ashton
Keyence LV-S62 Sensor 1 A10 Ashton
Dundee Bearings NT-2 HS 15 mm Belt 5 A23
Diaphram pumps PE5 22 Ball Cage 5 A1
Dundee Bearings SKF 40 FTS Pillow Block Bearing 2 Floor
Dundee Bearings SKF 40 LTS Pillow Block bearing 2 Floor
DdeeBearings SSB205 Bearing 4 A5
Ammerelbeltech TBPU000246 Vacuum Belt ATL10 50 X 3220 2 A23

UCSL205 Bearing Unit 2 Floor
VNB201A-F15A Valve 1 Floor Bin

Dundee Bearings VSC0415-1MT Vacuum Pump for belts 1 At Machine
Ashton XB00065 Permaglide Bush 18 A9

Ashton XB00066 Permaglide Bush 15 A9

Ashton XB00075 Oil Seal 10 A6

Ashton XB00089 Bearing 0

Ashton XB00095 Plastic Flange(GFM-1012-10) 80 A14

Ashton XB00129 Plastic Flange(GFM-1012-06 9 A14

Ashton XB00136 P47 Pressed Steel Housing 5 A22

Ashton XB00139 Bearing 0 A9



Ashton XB00183 Bearing 0

XB00219 V-Bearing Concentric 2 A13

Dundee Bearings XB00220 Vee bearing Eccentric 3 A13 SSBHJR95ENS
Ashton XB00258 Bearing 1 A7

Ashton XB00269 Bearing 0

Ashton XC00060 30mm Swivel Castor 60 Floor

Ashton XD00002 Red guides 20 A20

Ashton XD00070 54 x 2 PVC hose Roller Cover 3.5M At Machine Conv 1, 3 and 4

Ashton XD00081 V40 Seal Bush 4 A6

Ashton XD00113 Yellow Caps 13 A18

Ashton XD00135 Yellow Roller 64 A15

Ashton XD00136 Yellow Roller 3 A14

Ashton XD00237 68 x 2.2 PVC hose Roller Cover 26M At Machine Conv 6,7b and 9

Ashton XE50108 Transmission Slit 0

Ashton XEC0117 M8 cable Assembly 0 A11

Ashton XEC0129 Purple PLC cable 0

Ashton XEC0131 24v Power supply cable 10 M 2 A11

Ashton XEMW304 B&R X20 Bus Module 1 A4

Ashton XEMW307 B&R X20 Bus Module 1 A4

Ashton XEMW-311 connector strip 1 A2

Ashton XEMW322 X67DM1321 Input Module 1 A4

Ashton XEMW371 Contactor 1 A2

Ashton XEMW372 Circuit Breaker 1 A2

Ashton XEMW374 Contactor 1 A2

Ashton XEMW375 Front Mount Auxilary 1 A2

Ashton XEMW376 Manual Motor Starter 1 A2

Ashton XEMW384 Moveable Head Servo Motor 8LSA45 1 Floor
Ashton XEMW458 Flash Card 1 A2

Ashton XEMW467 Touch Screen 1 Side of Shelf

Ashton XEMW491 Motor for Rotation Table 8JSA54 1 Floor

Ashton XER0016 24V Relay 2 A4

Ashton XES0028 Emergency stop push button 1 A4

Ashton XES0029 Green Push Button 1 A4



Ashton XES0037 N/O Push button blocks 2 A4

Ashton XES0046 Photo Electric Sensor E3S-LS10XB4 3 A10 RS 818-1479

Ashton XES0089 Photo Electric Switch 0

Ashton XES0114 Micro Switch 2 A4

Keyence XES0115 Sensor 3 A1 Keyence PZ-V11P
Ashton X-FMAA-0052 Spray Bar 10 A6

Ashton X-FMFVAA0002 Flip Up arms 2 Next to shelf Both worn/used
Ashton X-FMMAM-0009 Pinion 2 A5

Ashton X-FMMAM-009 Rack pinion 0

Ashton XG00004 1/2" Z12-21-0684 Sprocket 1 A5

Ashton XG00046 Brass Worm Wheel 11 A5

Ashton XG00078 Diamond Belt Drum 1 Bottom shelf

Ashton XG00080 Shaft Bush 1 A16

Ashton XG00248 Belt 647x15 22

Ashton XG00279 Palet Lift Cable 1900mm long 0

Ashton XG00281 Palet lift cable 2380mm long 1

Ashton XG00295 Flat Belt 3 A22

Ashton XG00332 S/S Pulley with Bearing 5 Floor

Ashton XG00333 S/S Pulley 6 Floor

Ashton XG00334 TB1215 X 25MM Taper Bush 4 Floor

Ashton XG00375 8mm Polycord 4 A22

Ashton XG00424 Vaccum Belt (moving side) 4 Floor Ammarell

Ashton XG00425 Vacuum Belt (fixed side) 4 Floor Ammarell

Ashton XG00428 Belt(conveyor 4) 4 A22 Floor
Ashton XG00481 Belt(conveyor 6) 4 A22 Floor

Ashton XG00482 Belt 22 Shelf @A16

Ashton XG00483 Open Belt(Pivot table) 1 Floor

Ashton XG00486 Belt 0 A22

Ashton XG00487 Belt(Timing Wash) 1 A23

W.Robinsons XM00028 water pump 1 On Shelf ,+ 1 used

Versamatic XM00064 Pneumatic Pump (recon) 0

Ashton XM00162 Gearhead 1 On floor

Ashton XP00031 Gasket SY5140-5LOU-Q 2 Box on Shelf



Ashton XP0004 Air Regulator 2 A4

XP00091 Cylinder CQ2B63TF-15DZ 6 Shelf Bin

Ashton XP00091 Cylinder 6

Ashton XP00116 Rod End Clevis 5 Floor Bin

Ashton XP00229 Solenoid Valve 4 A6                        

Ashton XP00239 Solenoid Valve 1 A4

Ashton RS XP00265 (2274483) 3 Meter Lead Reed switch (2274483) 4 A4 RS 2274483

Ashton XP00320 Air actuator 0

Ashton XP00322 Guided Cylinder 0

Ashton XP00363 Cylinder 1 A12

Ashton XP00377 Reed Switch Accessory 3 A4

Ashton XP00382 Pneumatic Cylinder 1 A12

Ashton XP00385 Reed Switch Accessory 3 A4

Ashton XP00406 Cylinder 1 A12

Ashton XP00529 Cylinder lift arms 0 Next to shelf
Ashton X-SDGP-0003 Spindle 2 A6

Ashton XT-50652 M6 x 20mm Bolt 0

Ashton XWC0704 Clear Poly Tube For Cylinder 1 Roll Floor

Ashton XX00103 V-40-S Seal 0

Ashton XX00104 V-70-A Seal 9 A6

Ashton XX00123 PTFE Paddle 10 A3

Ashton XZ00001 Shaft 1 Floor Box

Reflector for Keyence Sensor 4 A1

Ashton Vacuum Chamber Fixed 0 Next to shelf

ashton Vacuum chamber Moveable 0 Next to shelf

ashton Drive Belt 0 Shelf



Type: Date: 01.12.2024
Checked By: CW

Supplier Code Item Qty Location Alt Supplier
RS 193-1472 VZM550-01-33 Valve 0 Store
RS 701-3283 Pnuematic Push Button 0 Store

FRAFILT935 Dust Filter 3 Store
S&GG FRAMOTO935 Motor for Aspirator 936 1 Store

IGT.BLOCPU.TEMK Nozzle Holder 3 Store
UGEL9L65W10K Nozzle Diam 9mm L65mm 4 Store

UGINSP Air Injector 3 Store
MTL Cutting Block For Saw 1 Shelf

Ravensby Glass Engineering Stock Take

Stone And Glass Group (Sand Blaster)



Type: Bottero cutting table Date Checked: 01.12.2024
Checked By: CW

Supplier Code Item Qty Location Alt Supplier

SGS-ENG 23 Clevis Clip 0 Bottero 4

R&M 2305 25x62x24 Bearing 0 Bottero 9
1300024 MTS M10 C Magnetic Linear Encoder 1 Bottero 9

RS 2099204 ASV 310 F Exhaust 3 Bottero 9

RS 3950144 Beveller Aux Contacts 0 Floor

RS 4938779 LU9BN11 Terminal Block 1 Bottero 9 (+2 used)
RS 4938836 LUA1C20 AUX Contacts 2 Bottero 9

RS 7640605 XXV18B1PAM12 Proximity 2 Bottero 7

Ross 1050118852 LC1D12BL Contactor 2 Floor

Bottero 57240200076522 Heat Lamp 1 Bottero 7

Bottero 59560200001599 Flexible Hose with Rubber Part L=5230 0
RS 121-6245 6 to 4 Union Push Fittings 5 Bottero 9

Bottero 18VH527G501-02-387 Cutting blade clamp 0
RS 324-1052 XS1L04PA310 Inductive Proximity 3 Bottero 7 EI507-7251
RS 330-8701 3 position switch with contacts XB4 BD53 2 Bottero 9
RS 447-3474 Limit Switch for bottero loader arm 1 Bottero 7
DDE Bearings 6002DDU Bearing for Vacuum rotation 3 Bottero 3
RS 608-9655 LC1D38BD Contactor 1 Bottero 7
RS 684-2904 Pepper+Fuchs Ultrasonic Sensor 1 Bottero 1

BU50025 Balluff Ultra sonic Sensor 1 Bottero 1
ElecCentr E32-DC200 Fibre Optic Cables 4 Bottero 7

Bottero EF1053535 Pizzato Roller Switch 2 Bottero 7

EF1056005 Door Hinge Safety Switch 1 Bottero 7

Bottero EF4046707 Safety Bar Receiver 1 Bottero 8

Bottero EF4046717 Safety Bar Transmitter 1 Bottero 8
Bottero EF4048001 fx-301p Amplifier UFX301P 0 Bottero 5.3

Bottero EF4070383 Amplifier 1 Bottero 4

Ravensby Glass Engineering Stock Take



Bottero EF4070390 Fibre Optic Cables 1 Bottero 4

Bottero EF4070396 Zoom Lens 1 Bottero 4

Bottero EF4070396 Zoom Lens LL3-DA06 1 Bottero 4
Bottero EI4553100 Reed Switch DSM2B 1 Bottero 9
Bottero EI5077261 XS1 NO5PA310 Sensor 1 Bottero 7
Bottero EI5077437 XS1 M12KP3400 Sensor 3 Bottero 7
Schneider EI5680040 Proximity detector XX7F1AZPAL01M12 2 Bottero 4
Bottero EP5071152 Key Switch ZB4BG212 2 Bottero 9
Bottero EP5271151 ZB4 BZ101 NO Contact 2 Bottero 7

Bottero F004207 Gefran linear Potentiometer 1 Bottero 9

Bottero G386-3-1 Loader suction cups 5 Bottero 5&6

Bottero G4402-102 Protection roller 8 Bottero 9

Bottero G446-02-122 Mechanical Fuse 3 Bottero 9

Bottero G446-02-502 PVR OPXT557 0 Bottero 9 Floor
Bottero G446-3-54 Z'16 Toothed wheel 3 Bottero 9

Bottero G501-02-139 Grub Screw 1 Bottero 9

Bottero G501-02-151 Laminate Cutting Head 1 Bottero 9

Bottero G501-02-222 Lam Cutting Head Block 2 Bottero 9

Bottero G501-02-385 RHS Blade Holder 1 Bottero 3

Bottero G501-02-387 LHS Blade Holder 0 Bottero 3 1 used
Bottero G501-05-156 Quartz Protective Cover 2 Bottero Shelf
Bottero G501-2-14 Prismatic Wheel 0 Bottero 8.2

Bottero G501-2-98 Eccentric Pin 4 Bottero 9

Bottero G543-06-046 Discs 2 Bottero 9

Bottero G807-01-020 Spring Suction cup 10 Bottero 9

Bottero G807-01-027 Ball Feeler Spring 2 Bottero 7

Bottero G807-01-028 Feeler 0 Bottero 7.4

Bottero GX516-1-0412 Suction Cup 0 Bottero 2
Bottero MC52684350 Timing Belt RPP 8x30 30RPP8-14184+NFT+AVAFC85 2 Floor

Bottero MC9532240 4202 BTNG Bearing 4 Bottero 9

Bottero MG95460158 Linear Guide Bearing for Heating Element 1 Bottero 3

Bottero MG95460158 Linear Bearing BGXH15FN-N-Z1 TRM 1 Bottero 3

Bottero MN2030200 Magnetic Strip 2 Bottero 9

Bottero MR2210100 Edge Deletion wheel Dressing Pin 2 Bottero 9



Bottero MR8050906 Cutting Wheel Axle 1 Bottero 9

Bottero P00111519 Limit Switch 0 Bottero 3

Bottero PC5008030 Festo Cylinder 1 Bottero 2 RS 175-4511

Bottero PE52761526 Valve 2 Bottero 5.4

Bottero PE52761527 24VDC Cutting Oil Valve 1 Bottero 1

Bottero PG5620900 Elbows 0 Bottero 8.3

Bottero PG8552178 V-Seal for Vacuum Rotation 10 Bottero 2

Bottero PM4510621 Top Hat Diaphram 2 Bottero 9

Bottero PM4510623 Top Hat Diaphram 1 Bottero 9

Bottero PR0806762 4mm Elbow Push Fittings 0 Bottero 8.3

Bottero PT1530142 Oil Tank Lid 1 Bottero 9

Bottero TKA45.060.075 Bottom Carriage Energy Chain 2 Bottero shelf
Bottero Loader rollers 8 Bottero 8

DDE Bearings W15C Hiwin Guide Carriage 9 Bottero 9



Type: Bystronic General Date 01.12.2024

Checked By: AMc

Supplier Code Item Qty Location Alt Supplier

Dundee Bearings 22206 FAG bearing for Byst Wash 2 Byst2
Bystronic 81822 Photoelectric Switch 1 Byst8 Scattergood
Bystronic 81827 Photoelectric Switch 3 Byst 8 RS 215-7779
Bystronic 81830 Photoelectric Switch 1 Byst 8 Scattergood
Bystronic 83330 Proximity Switch 1 Byst 5 Balluff
Cromwell 100744 Star 120 Lubrication Unit 0 Shelf
Byst 307483 Collar-48/38 x 7mm ring 80deg+_5DEG Shore 30
Escho 509849 Aluminium Saw Blade 0  
RE-Bo 516884 TGI Saw Blade 0
Festo 533347 Solenoid Valve 0
RS 2638893 CD85 N16-80-B Cylinder 1 Byst 4
Bystronic 4203313 Filter Element 0
Bystronic 7048707 Wiper Motor 1 Byst 34
Bystronic 10063073 Block 1 Byst 4
Bystronic 10063772 Shaft 1 Byst 17 1 used
Bystronic 10063969 Nozzle Carrier (uncleaned) 1 Shelf
Bystronic/Amer Belts 10066682 Toothed Belt atl 10 50x1500 2 Shelf
Bystronic 10067089 Geared Pump 0
Bystronic/Amer Belts 10069144 Toothed Belt atl 10 50 x 4000 4 Shelf EPGB0137360

10082276 Plate 1 Byst 12
Bystronic 10095725 Mounting Shaft 0 Byst 24
Bystronic 10095839 Sealing Ring 1 Byst 22
Bystronic 10095841 Sealing Ring 8 Byst 24
Bystronic 10096916 O-Ring 8 Byst 22
Bystronic 10106993 Seal 2 Byst 22
Bystronic 10109489 Peak Seal 0
Bystronic 10115890 Round Flange 0
Bystronic 10115943 Mixing Screw Peak Seal (Cream) 3 Byst 24
Bystronic 10117605 Mixing Screw Seal (Red) 1 Byst 24
RS 2550718306 Pneumatic Cylinder 0
Dundee Bearings 7020001000 Valve 1 Byst 31 , + 1 used

Ravensby Glass Engineering Stock Take



7020001000 Valve for Lifters QCA6C1 1 Byst 31
JSL 02-84-23-10 Reinhardt Drum Pump (recon) 1 Shelf
Byst/Glaston 1005'8724 Shaft (Sealing Conveyor Drive Shaft) 0
Bystronic 1014'0407 Cable for 1014'2454 1 Byst 8

Bystronic 1014'2454 Control Unit For Light Barrier (Replaces 081822 & 81830) 1 Byst 8
RS 103-1645 Limit Switch 1 Byst 7
RS 210-086 Pneumatic Fittings Depth Feeler (M3 x 4mm) 6 Byst 4
RS Components 224-7397 Float switch (WKR+SKR) Grundfoss 1 shelf Anchor Pumps 16650
Dundee Bearings 2437 7R23 Oil Seal For wash bearing 3 Byst 2
RS 263-8843 CD85N10-100-B Cylinder 1 Byst 32
RS 282-603 24v PSU 1 Shelf
Byst 307317LH 50.0/8.2 x 11.0 Roller 16 9E
Byst 316010LH 50.0/8.0 x 11.0 Roller 1
Byst 323981LH Block- 15.0x10 x 30mm 0 L-323981
Byst 323982LH Block- 15.0x10.0x28.5mm 1 L-323982
Byst 325742LH Roller 51.0/8.2x18.5 0
RS Components 340-960 E32-DC200 Fiber Optics 2 Byst 6
Byst 344838LH Guard Plate (Sealing) 2
RS 392-7380 Contactor 1 Byst 26
RS 410-7060 F1-U1Z UN Footswitch Single 2 Shelf
RS 410-7284 F2-U1Z/U1Z UN Footswitch Double 3 Shelf
RS 454-2205 Temperature Controler 1 Byst 35
RS 478-876 M10x50 ESA clamp handle 2
RS 493-0028 Contactor 2 Byst 26
RS 493-0163 3 Pole 5.5KW contactor 3 Byst 26
Byst 500172LH Tension Spring 8
Byst 500211LH Sealing Ring 3
Byst 501206LH Sealing Ring 3
Byst 502047LH Sealing Ring 3
Powerite 502166LH rotary valve 2 024-100+1 used
Byst 502272LH Reed Contact 1
Byst 503785LH Sound absorber (festo U1/4)) 2 EF2316
Byst 504266LH Magnetic Switch 2 RS 724807
Byst 504920LH Silicone Band 80 x 1.5mm 19m
Byst 505421LH  C85N10-50Pnuematic cylinder 2 4358814
Byst 505731LH Guide Carriage 2 RS 409533
Byst 506290LH O-Ring 1
Byst 506328LH O-Ring 3
Byst 506520LH Pneumatic Cylinder 2



Byst 506573LH Sealing Ring 9
Byst 506995LH Spray Nozzle 18
Byst 507067LH Filter (Line Wash Mesh) 0
Byst 509355LH Round Belt 4X445.0 4 L-509355
Byst 509356LH Round Belt 6X585 3 L-509356
Byst 509517LH Guide Carriage 2
Byst 515098LH 6.0 x 360.0 O-Ring 2
Byst 515173LH O-Ring 4
Byst 516455LH Ultrasonic Proximity Switch 1
Byst 516736LH 5.0 x 1320.0 Round Belt (Sealing Strip) 1
Byst 518026LH CDJP2B10-30D Cylinder 2 547528
Dundee Bearings 6201ZZNTN High Temp Bearing 3 Byst 2
Bystronic 625-2Z Bearing (bar bender carraige) 9 Byst 15
RS 700-5976 Cylinder CD85N16-40C-B 1
RS 744-8733 PNOZ Safety controller 0
RS 746-0743 3RU2140-1BB40 Contactor Relay 2 Byst 25
RS 746-0743 Contactor 2 Shelf
RS 746-0768 3RH2140-1BB40 Contactor Relay 2 Byst 25
RS 746-0768 Contactor 2 Shelf
RS Components 751-6713 SITOP Power supply 1 Byst 35
Byst 801743LH Light Barrier (OF5012) 3
Byst 802084LH Proximity Switch KCB-D34 PS/025KLPS12 1 L-802084
Byst 80505LH Limit Switch 3
Byst 81550LH Kick/Foot Emergency Stop 2 225-8172
Byst 81816LH Fibre Optic Cable E32-TC200 3 L-081816
RS 818-4080 E3X-NA8 Photoelectric Switch 1 Byst 81822
RS 826-2073 Reed Switch 2 Byst 25
Byst 85163LH Auto/Man Selector switch 1 RS 330-9265
RS 860-8438 Contactor 0 Byst 26
RS 861-3496 Siemens Aux Switch Block 2 Byst 25
RS 861-3496 Aux Switch Block 2 Shelf
Byst 87304LH Proximity Sensor Inductive 1
Byst 87306LH Proximity Switch 2
Byst 87318LH Proximity Switch 1
Byst 89000LH Bus Coupler BK4020 0
Byst 89001LH DP KL Digital Input Terminal 4 KL1104 0
BeckHoff 890021LH KL9510 10V Supply 0 beckoff stock
Byst 89002LH DP KL Digital Output Terminal K2134 0
BeckHoff 890046LH KL2541 Output Module 0
Byst 89004LH Analog Output Module DP KL4002 0



Byst 89049LH Analog Input Module KL3061 0
Byst 92504LH Cylinder Festo (width Measure) 1
Byst 92695LH Manometer R1/8 pressure gauge SMC ic8-10-40 2
Byst 93442LH Slide Bearing (8/10.0x8.0) 8
Byst 93541LH 50.0/8.0 x 20.0 Wheel 4
Byst 93929LH Filter Mat 1
Byst 94355LH Throttle Relief Valve 2
Byst 94357LH Throttle Relief Valve 1
Byst 94680LH Screw GEW.STIFTH6KT+SPITZ 12
Bystronic A-000890 Minimum pressure valve 1 Byst 31
Bystronic A-000944 Push button black 3 Byst 13
Bystronic A-006115 Needle Bearing 1 Byst 11
Bystronic A-006116 Sealing disk 1 Byst 11
Bystronic A-006523 Swivel lever 0 Byst 13
Bystronic A-008989 Insert valve 1 Byst 32
Bystronic A-624007 Bolt 2 Byst 17
Bystronic A-624552 Thread bolt 1 Byst 11
Bystronic A-625200 Venuri Vacuum Generator 0 Byst 31 , + 3 used
Bystronic A-692032 Way valve 0
Bystronic A-692032 5/3 Way valve 0
Bystronic A-692063 Way valve 1 Byst 32
Cromwell ABP01 Battery pack 0 A(Cromwell box)
Dundee Bearings BB60062RSC 60062RS 0
Danvac BLSP 280PK Pad Lifter 7 Shelf
Danvac BLSP200PAD Suction pads 2 Shelf
Danvac BLSP200PK Suction Cup 3 Shelf
RS CD85N10-100 SW Cylinder 0
RS CD85N12 Cylinder Switch 1 Byst 4
Dundee Bearings CDUK16-10D-XC34 Cylinder 5 Byst 4
Pumps UK CM5-4 Drain Pump for Wash 1 Shelf
Dundee Bearings CPE10-M1BH Festo Pneumatic Valve 0 A10
Scattergood E3Z-LS81 Photoelectric Switch 1 Byst 6
ABeltTech epgb0133799 Toothed Belt atl 80 10x4000 2 Shelf
ABeltTech epgb0137360 Toothed Belt 4
Ammeral EPGB0150553 50ATL10/1500 (150T) Syncrolinear Steel HP NFT 1 Shelf
Ammeral EPGB0153395 PU Linear T10 Steel +2.0 PUS085 Transparent 5 Shelf
ABeltTech EPGB-133798 Toothed Belt atl 50 10x4000 2 Shelf
Bystronic L_500235 Sealing Ring 27 x 4 x7.5 1 Byst 3
Bystronic L-012317 Roller 2 Byst 28
Bystronic L-012318 Roller 3 Byst 28



Bystronic L-022101 Lever 29x16x60 3 Byst 17
Byst L-025870 Hub for Dryer Pressing Wheels 8 Shelf
Bystronic L-044733 Gear Wheel 0
Bystronic L-047413 Cap 2 Byst 19
Bystronic L-047550 Ledge 1 Byst 12
Bystronic L-049057 Housing 0
Bystronic L-049058 Cap 0

L-049059 Journal 1 Byst 20
Bystronic L-049364 Roller 3 Byst 28
Bystronic L-049683 Bevel Gear 2 Byst 18
Bystronic L-080502 Foot Switch 0 B
Bystronic L-080503 Foot Switch Insert 1 Byst 7
Bystronic L-080504 Double Foot Switch 0
Bystronic L-080597 Encoder 1 Byst 35
Bystronic L-080676 Cable for sealant station 3M Shelf
Bystronic L-080930 Cable 2 Byst 25
Bystronic L-081595 Cable Oeflex 6 x 0.5mm 5+1m Byst 35
Bystronic L-081803 Switch 1 Byst 7
Bystronic L-081816 Fiber Optic Unit 1 Byst 6 Scattergood (1 used)
Bystronic L-082260 15 Core cable 12m Bottom Shelf
Bystronic L-082854 Wago topjobs 10 Shelf
Bystronic L-082855 Terminal post 2 Shelf
Bystronic L-082857 Terminal block 2 Shelf

Bystronic L-083260 Encoder 1 Byst 8

Bystronic L-083318 Proximity Switch 1 Byst 35

Bystronic L-083321 Proximity Switch 1 Byst 35

Bystronic L-083331 Proximity Switch 1 Byst 7

Bystronic L-083339 Proximity Switch 1 Byst 35

Bystronic L-083343 Cylinder Switch 1 Byst 5

Bystronic L-083504 Temperature Feeler 3 Byst 34

Bystronic L-083819 Cable Socket 5 Shelf

Bystronic L-084244 Cable 3 x 0.34 2m Byst 35
Bystronic L-084251 18 x 0.5mm Oeflex Robot 8+3+1m Byst 35
Bystronic L-084400 Light Barrier 1 Byst 5

Bystronic L-084508 Cable 8M 0 Byst 25
Byst L-084793 Optocoupler 2 1 used

Bystronic L-085014 Linear Potentiometer 1 Shelf

Bystronic L-085018 Linear Potentiometer 0 Byst 35



Bystronic L-085019 Linear Potentiometer 1 Byst 32

Bystronic L-085023 Displacement Transducer 1 Shelf Gefran

Bystronic L-087306 Proximity Switch 2 Byst 5

Bystronic L-087307 Cable Socket 3M 0 B

Bystronic L-087328 Bracket for bending ram 2 Byst 12

Bystronic L-087330 Proximity Switch 1 Byst 5

Bystronic L-088054 C6 MCB 1 Shelf

Bystronic L-088085 Auxillary contact 1 Shelf

Bystronic L-088667 UPS 1  Bottom Shelf

Bystronic L-089003 KL3062 Beckhoff card 0 Byst 35
Bystronic L-089018 Bus Connector 1 Byst 35
Bystronic L-089033 Bus Connector 2 Shelf

Bystronic L-089693 End clamp 3 End Clamp

Bystronic L-089725 Sinamics double motor module 0 Shelf

Bystronic L-090808 Sealing Ring 1 Byst 22
Bystronic L-090917 Screw connection 2 Byst 15
Bystronic L-091139 O-Ring 2 Byst 22

Bystronic L-091194 Sealing Ring 2 Byst 22

Bystronic L-091273 Screw 25 Byst 11

Bystronic L-091386 M5x12 2 Byst 17

Bystronic L-091392 M5 Screw 4 Byst 17
Bystronic L-091393 M5x40 7 Byst 17

Bystronic L-091639 Grub Screw 1 Byst 11

Bystronic L-091672 M5x10 2 Shelf

Bystronic L-091911 Parallel Pin 4 Byst 13

Bystronic L-091973 Circlip A 4 Byst 13

Bystronic L-092013 Supporting ring 3 byst 3
Bystronic L-092137 Disk m10 5 Byst 11

Bystronic L-092504 Pneumatic Cylinder 1 Byst 4

Bystonic L-092594 Locking washer 25 Byst 11

Bystronic L-092632 Clevis (sping Clip) 7 Byst 17
Bystronic L-092772 Ball Bearing 2 Byst 1

Bystronic L-093271 Bearing 1 Byst 1

Bystronic L-093280 Ball Bearing 4 Byst 1

Bystronic L-093299 Self Aligning Bearing 2 Byst 1



Bystronic L-093493 Sliding bearing 3 Byst 11

Bystronic L-093541 Wheel 10 Byst 29

Glaston L-093668 Ball Roller 6 Byst 23

L-094045 Pipe Clamp (Green) 3 Byst 10
Bystronic L-094085 Bump Stop 2 Byst 18

Bystronic L-094405 Sliding Bearing 2 Byst 3

L-094727 Circlip A25x1.2mm 8 Byst 13
Bystronic L-095048 Square Key 2 Byst 15

Bystronic L-095239 Adjusting Ring 2 Byst 17

Bystronic L-095297 Square Key 1 Byst 15

Bystronic L-096578 Ball Bearing 2 Byst 1
Bystronic L-096578 Grooved ball bearing 2 Byst 1
Bystronic L-097673 O-Ring 5 Byst 22

Bystronic L-098516 O-Ring 2 Byst 22

Dundee Bearings L-10070366 B Component Resevoir (Recon) 1 Shelf

Bystronic L-10072609 Cable for sealant station 3M Shelf

Bystronic L-300413 Sleeve Coupling 1 Byst 27

Bystronic L-303657 Roller 6 Byst 28

L-306677 Bolt 2 Byst 11
Bystronic L-306731 Roller 6 Byst 27

Bystronic L-306937 Glide Bearing 2 Byst 3

Bystronic L-307017 Roller 2 Byst 28

Bystronic L-307316 Half Shell 2 Byst 28

Bystronic L-307317 Roller 5 Byst 29

Bystronic L-308114 Slipband 2 Shelf

Bystronic L-316010 Roller 1 Byst 29

L-318266 Finger 15x4x16mm 2 Byst 19
Bystronic L-318293 Roller 5 Byst 29

Bystronic L-318593 Transport Ring for Dryer Pressing Wheels 8 Shelf

Bystronic L-321926 Hold Down Roller 1 Byst 19
Bystronic L-323982 Block 1 Byst 11

Bystronic L-323983 Block 2 Byst 11

Bystronic L-327378 Ring 2 Byst 17

Bystronic L-336446 Fixture 1 Byst 12

Bystronic L-336558 B-component valve 1 Shelf



Bystronic L-336886 Hold Down Roller 4 Byst 29

Bystronic L-336986 Torsion Spring 2 Byst 19
Bystronic L-340043 Screw 5 Byst 13

Bystronic L-344010 Threaded bolt (pressure roller 1 Byst 13
Bystronic L-344602 Hook with silicon cover 10 Byst 16

Bystronic L-345270 Adapter 2 Byst 17

Bystronic L-347530 Linear Slides 1 Byst 3

Bystronic L-348211 Thread Bushing 3 Byst 23
Bystronic L-348426 Black Guide rollers 0 Byst 23
Bystronic L-349599 Nozzle Plate 0 office

Bystronic L-352535 Screw 6 Byst 13 RS 399-173
Bystronic L-352550 Ejection Pin 6 Byst 13

Bystronic L-352684 Roller (wash) 3 Byst 29
Dundee Bearings L-353777 A component resevoir (Recon) 2 Byst Shelf

Bystroniic L-356879 Spindle Screw (recon) nill val 1 Shelf

Bystronic L-363055 Spray Nozzle 3 Byst 14

Bystronic L-400334 Pipe 1 Shelf

Bystronic L-400363 Repair Set Material 4 Byst 30

Bystronic L-400841 Connection branch 1 byst 3
Bystronic L-401186 Seal For Follower Plate 2 Shelf

Bystronic L-402312 Friction wheel 1 Byst 12

Bystronic L-404671 Toothed Wheel 1 Byst 23

Bystronic L-405150 Sheet metal 1 Byst 12

Bystronic L-405274 Connection branch 1 byst 3
Bystronic L-405304 Guide Rollers 2 Shelf

Bystronic L-405657 Press positioning pin 1 Byst 19

Bystronic L-407168 Lever (Sealing nozzle) 1 Byst 19
Bystronic L-408506 Sealing Strip (Press) 2 Press Cage

Bystronic L-411487 Pipe 2 Byst 10
Bystronic L-411488 Tube 1 Byst 10
Bystronic L-412228 Timming Belt Pulley 1 Shelf

Bystronic L-412675 Clamping Lever 2 Byst 19

Bystronic L-412677 Bending Ram 2 Byst 19

Bystronic L-413356 Slide 1 Byst 19

Bystronic L-413653 Plate 1 Byst 12



Bystronic L-417071 Roller 1 Byst 29

Bystronic L-417304 Clamping Lever 1 Byst 19

Bystronic L-417780 Depth Finger 1 Byst 19 1 used

Bystronic L-417786 Pressure Plate 1 Byst 12

Bystronic L-418066 Material hose 1 Byst 33
Bystronic L-418191 Pendulum Nozzle 1 Byst 19
Bystronic L-418252 Plate 1 Byst 17
Bystronic L-418301 Scraper 1 Byst 12

Bystronic L-418395 Carrier bolt 1 Byst 19
Bystronic L-418623 Bearing Arrangement (repaired) 1 Shelf

Bystronic L-419200 Gripper Wheel (One sample taken) 9 Shelf

Bystronic L-421462 Plate 1 Byst 12

Bystronic L-421479 Base Plate 1 Byst 33
Bystronic L-421480 Bolt 4 Byst 19
Bystronic L-421614 Servo Motor (Bar Bender) 1 Shelf

Bystronic L-422290 Plate 1 Byst 17

Bystronic L-422655 Bearing Arrangement 0 Shelf
Bystronic L-422902 Sealing (Silicon Sealing Station) 2 Shelf

Bystronic L-422904 Sealing (Silicon Sealing Station) 2 Shelf

Bystronic L-423502 Fixing Bracket 1 Byst 12

Bystronic L-424225 Elbow Pipe for sealing 1 Shelf

Bystronic L-424276 Bearing Block 2 Byst 3

Bystronic L-424591 Part of clutch 1 Byst 19
Bystronic L-424851 Ring 2 Byst 19
Bystonic L-424908 Disk 1 Byst 27

Bystronic L-500133 Conveyor Belt 2m Shelf
Bystronic L-500172 Tension Spring 2 Byst 13

Bystronic L-500211 Sealing Ring 3 Byst 2

Bystronic L-500485 Screw Connection 4 Byst 9

Bystronic L-501206 Sealing ring (pressure roller) 1 Byst 11
Bystronic L-501249 Screw 25 Byst 11

Bystronic L-501530 Elbow 1 Byst 10

Bystronic L-502012 Pressure Spring 12 Byst 13

Bystronic L-502237 Ring 63x68x7 4 Byst 2

Bystronic L-502476 M5x8 2 Byst 17



Bystronic L-502648 Sealing ring 4 Byst 2

Bystronic L-502843 Sealing Ring 3 Byst 2

Bystronic L-503009 Screw connector Swivel Compression 1 Shelf

Bystronic L-503280 O-Ring (2-62-28-24) 1 Byst 22
Dundee Bearings L503328 Hydraulic Valve 0

Bystronic L-503974 Plastic Bottle 3 Shelf

Byst/Glaston L-504069 Elbow (For Vacuum at sealing Head) 2 Byst 10

Bystronic L-504266 Reed Switch 1 Byst 34

Bystronic L-504445 Pressure Transducer 0 Byst 34 1 used

Bystronic L-504850 O-Ring 7 Byst 22

Bystronic L-504908 Airduct 2 Shelf
Bystronic L-504920 Silicone Seal 30m Shelf

Bystronic L-505029 Toothed Pulley 2 Byst 27

Bystronic L-505030 Toothed Belt 1 Shelf

Bystronic L-505032 Toothed Belt 1 Shelf

Bystronic L-505037 Coupling Clutch 1 Byst 20

Bystronic L-505040 Axial ball bearing 6 Byst 15

Bystronic L-505121 Toothed Belt 1 Shelf

Bystronic L-505421 Pneumatic Cylinder 2 Byst 4

Bystronic L-505709 Suction Plates BLSP 42x60 15 Byst 21 Danvac BLSP 42 x 60

Bystronic L-505851 Needle Bearing (Conveyor Drive unit) NA6906-XL 1 B23
Bystronic L-506260 Toothed Belt 1 Shelf

Bystronic L-506320 Toothed Belt 1 Shelf

Bystronic L-506321 Toothed Belt 1 Shelf

Bystronic L-506328 O-Ring 1 Byst 22
Bystronic L-506414 Pressure Screw 2 Byst 11
Bystronic L-506520 Pneumatic Cylinder 0 A

Bystronic L-506523 Tension set 1 Byst 28
Bystronic L-506865 Parallel Pin 4 Shelf

L-507035 Pipe Clamp (Black) 2 Byst 10
Bystronic L-507120 O-Ring 0 A2

Bystronic L-507127 Toothed Belt (T10 16x1960) 1 Shelf

Bystronic L-507147 Filter Element 1 Byst 14

Bystronic L-507165 O-Ring (2-62-47-29) 2 Byst 22

Bystronic L-507448 Sliding bearing 8.0/9.6x 8 Byst 11



Bystronic L-507666 Screw M3X55 3 Byst 11
Bystronic L-507843 O-Ring 2 Byst 22

Bystronic L-507850 Synchronous Belt 1 Shelf

Bystronic L-508082 Pneumatic Cylinder 1 Shelf

Bystronic L-508194 Square Key 2 Byst 15

Bystronic L-508224 Lubricator 1 Shelf

Bystronic L-508360 Contact adapter plug 0 Byst 17
Bystronic L-508361 Contact Pin 5 Byst 13

Bystronic L-508379 O-Ring 4 Byst 22

L-508549 Measuring Liquid 1 byst 14
Bystronic L-508995 Seal Kit Butyler 2 Byst 22

Bystronic L-509004 Locking washer 2 A(Upgrade Box)

Bystronic L-509048 Synchronous Belt 1 Shelf

Bystronic L-509270 Filter 4 Byst 14

Bystronic L-509517 Linear Bearings 2 Byst 3

Byst L-509688 Reed Switch 2 Byst 25 RS 227-4483
Bystronic L-509900 Shock Absorber 4 Byst 13

Bystronic L-515098 Round Belt 2 Shelf

Bystronic L-515163 V-Belt 1 Shelf

Bystronic L-515170 Disk Filter Grey 2 Shelf

Bystronic L-515171 Disk Filter Green 2 Shelf

Bystronic L-515204 Pressure Spring 3 Byst 11

Bystronic L-515204 Pressure spring 3 Byst11
Bystronic L-515308 Tork Screw 1 Byst 11

Bystronic L-515308 Tork Screw 1 Byst11
Bystronic L-515377 Lubricator Unit 2 Shelf

Bystronic L-515412 Rubber Door Bumper 12 Byst 18

Bystronic L-515570 TGI Drill Bits 4 Byst 19
Bystronic L-516001 Gluid Bearing 2 Byst 3

Bystronic L-516009 Toothed Belt 1 Shelf

Bystronic L-516010 Toothed Belt 1 Shelf

Bystronic L-516149 Blower Filter 5 Back of Forel

Bystronic L-516201 O-Ring 4 Byst 22

Bystronic L-516377 Clamping Lever 3 Byst 16

Bystronic L-516488 Press gas sealing 1.7M Shelf



Bystronic L-516633 Guide Carriage 1 Byst 23
Bystronic L-516735 Grooved Ball Bearings 4 Byst 1

Bystronic L-516736 Round Belt 3 Shelf
Bystronic L-516980 Hydraulic Power Unit 2 Shelf

Bystronic L-517144 Synchronous Belt 2 Shelf

Bystronic L-517246 O-Ring 5 Byst 22

Bystronic L-517255 O-Ring 3 Byst 22

Bystronic L-517260 Pneumatic Valve 2 Byst 9

Bystronic L-517450 Drill Bits 0 Byst 19

Bystronic L-517556 Lifting Cylinder 1 Shelf
Bystronic L-517680 Atomizer 3 Byst 23

Bystronic (RS) L-518026 Pneumatic Cylinder depth Feeler 2 Byst 4 RS (547528)

Bystronic L-518038 Valve Plug 2 Byst 25
Bystronic L-518078 Folding Spring Bolt 2 Byst 13

Bystronic L-518197 Servo Gear Motor 1 Shelf

Bystronic DDEBrg L-518502 Pneumatic cylinder 3 Byst 4

Bystronic L-518731 Lifting Cylinder 1 Shelf

Bystronic L-518747 Synchronous Belt 0 C

Bystronic L-518797 Toothed Belt 0 C

Bystronic L-518879 Seal 10M Shelf

Bystronic L-519045 Centrifugal Pump 0 shelf

Bystronic L-519123 Screw Connector 1 Shelf

Bystronic L-519186 Pneumatic cylinder 0 Shelf

Bystronic L-519217 Spacer Sleeve 3 Byst 28

Bystronic L-519524 Linear Potentiometer 1 Byst 31
Bystronic L-801743 Reflective sensor 1 Byst 5

Bystronic L-802084 Proximity Switch 1 Byst 5 Scattergood
Hosemaster MBA02 4-Way Square Manifold for Vacuum Lifters 3 Byst 32

Dundee Bearings MGN12C Guide Carriage 3 Byst 32
Dundee Bearings OS30x42x7 Oil seal for Bystronic wash 3 Byst 2

Dundee Bearings S6800RS Pressure Roller Bearing 3 Byst 1

Dundee Bearings V30Aseal Seal for Bystronic wash 0 Byst 2

Danvac VG40-01B Vacuum Gauge 40mm BSPT1/8" 0 Shelf

Bystronic Z62579 Thermo Element 24 Shelf





Type: Date Checked: 01.12.2024

Checked By: CW

Supplier Code Item Qty Location Alt Supplier

Forel 301 Bearing UCFL206 1 ex-consignment

Forel 3105 Bearing UCFL205 2 ex-consignment

Forel 6412 SMC Reed Switch 1 ex-consignment

Forel 9032 Support for Rack Wheel 40 ex-consignment

Thorite 108141 Piab Cable M8 3-Pin Female Length 2m 1 F38
Thorite 125685 Piab Vacuum Switch VS4016 65 3 F16
Farnell 2667322 Solid State Relay G3NA 1 F33

Farnell 2667322 G3NA-450B-UTU-2-DC5-24V 0 F33

Forel 2671009 Product Pin Circlip 7 F15

Forel 2671010 Catalyst Pin Circlip 4 F15

3479164 200l Drum Gasket 1 Shelf
Forel 4287011 Pressure transducer(gefran) 1 F43

RS 7578636 MGPM12-30Z Cylinder 1 F3535SMGPM012030Z
Forel 8262073 Reed Switch 0
Forel 21420403 Mesh Filter Cartridge (White) 4 ex-consignment

Forel 26113206 Nut D=6 0
Forel 26500210 Flat Washer 1 F15

Forel 26500210 Flat washer 0
Forel 30000628 Suction Cup 105mm 0 F31

Forel 39101176 Inciion Cut Blade(For Georgian) 5 F22

Forel 52062200 Nylon Rack Wheel 46 F29

Forel 53093410 Heating Element for Water Tank 1 Shelf

Leuze 53800103RSL430-S Floor Scanner for safety zone (repaired)2 Floor
Forel 71039300 Nut For Hotmelt Nozzle 1 F4
Forel 71068341Polyurathane Rubber Sleeve 80x60x37 SHA80 Black50 ex-consignment

Forel 71071410 Spacer 10x08, 25x14 40 ex-consignment

Forel 71074200 Rubber Roller Lateral Conveyor 2 ex-consignment

Forel 230001061 Gasket 106 Viton 1 F4

Forel

Ravensby Glass Engineering Stock Take



Forel 230001141 OR 114 Viton Gasket 0 F4

Forel 230001191 Gasket OR 119 Viton 41 F12
Forel 230001191 Gasket 1 F15

Forel 230020211 Gasket OR 2021 Viton 1 F12
Forel 230020311 Gasket OR 2031 Viton 0 F12
Forel 230020811 Gasket 2081 Viton 2 F1

Forel 230030751 Gasket 3075 Viton 1 F4

Forel 230030811 Gasket OR 3081 Viton 50 F12

Forel 230030871 Gasket 3087 Viton 2 F4

Forel 230031251 Gasket 3125 Viton 1 F4

Forel 230062371 Gasket 6237 Viton 2 F4

Forel 236120850 Belt SPA 850 12 ex-consignment

Forel 294612168 Spring (Hot melt Spatula) 5 F7

Forel 952301540 Proximity Sensor(datalogic) 0 B 1 temp on bottero
Forel 3910011325 Stanley Cutting Blade 11-325 1 ex-consignment

Forel 23102505010 Oil Seal 25x50x10 4 ex-consignment

Forel 25015004016 Hex Head Screw M4x16 40 ex-consignment

Forel 25101202008 Cap Screw M2x8 10 ex-consignment

Forel 25101204030 M4 x 30 10 F25

Forel 25102008025 Hardened Steel Roller Bolt 4 F25

Forel 25133005006 Screw Stei 5923 5 x 6 2 F12
Forel 25133010040 Handle Screw 10x40 3 F45

Forel 25155006016 Grub Screw M6x16 20 ex-consignment

Forel 25155008012 Grub Screw M8x12 20 ex-consignment

Graco 34760117334 Gasket V Packing Seals UHMWPE 25 F17 Graco 117334

Graco 34760117335 Gasket  V Packing Seals Leather 20 F17 Graco 117335

Graco 34760189901 Gland, Male 2 F17 189901 Graco
Graco 34760245850 Ball, Socket, Assy 2 F17 245850 Graco
Forel 70502003316 Rubber Sleeve 56x45x55 4 ex-consignment

Forel 70502003316 Rubber sleeve 56x45x55 2 F1

Forel 70502578604 Filter Mesh 0 Shelf
Forel 70900311002 Profile Pressing Wheel Triseal 2 ex-consignment

Forel 70900601003 Profile Pressing Wheel 4mm 4 F25

Forel 70900647102 Encoder Wheel 1 F18
Forel 70900822021 Spacer Pins (Wheels on slider bars) 5 F40 3 used



Forel 70920201012 Silicone Roller (Corner Tape) 0 ex-consignment

Forel 70920201012 Silicone Sleeve for Corners 6 F25

Forel 70930001523 Wheel 1 F50
Forel 70930001836 Thin Thickness Wheel 4 ex-consignment

Forel 70930011516 Jockey Roller Support Arm 0 F40
Forel 70930011926 Profile Corner Punch 0 ex-consignment

Forel 70930012001 Spacer drive wheel 1 F18

Forel 70930012029 Rear Pin C/Weight Cylinder 1 F25
Forel 70930012132Timing Belt AT05 H=25 L=1080 (Silicone) 1 ex-consignment

Forel 70930017031 Wheel 1 F50
Forel 70930046700 Butyl Extruder Cylinder Head 0 Floor

Forel 70930052100 Adattatore IGR PER 1 F32

Forel 70930142003 Idler Wheel 2 F50
Forel 70930192002 Wheel 1 F50
Forel 70930281001 Pressing Wheel H=7.3 0 ex-consignment

Forel 70930351906 Scraps Extractor Spacer 27mm 1 F22

Forel 70930451001 Profile Pressing Wheel H=5,8 3 F25
Forel 71020634501 Timing Pulley 40AT10/60-2 1 Floor

Forel 71020814502 Timing Pulley 40 AT10/20-2 1 Floor

Forel 71020954206Timing Belt AT10-90-8780 (Domestic Press) 1 Floor

Forel 71030097018 Rubberized Pane Stop 2 ex-consignment

Forel 71030195701 Vertical Seal Foam 1000x106x20 3 Shelf

Forel 71850504036 Brass Spacer 10 x 8 x 13 5 F25

Forel 71860042026 Bush for EM feeler wheel 2 F1

Forel 71860052042 Dressing Tool F13x6.5x10 H105 1 ex-consignment

Forel 71860052042 Dressing Tool (EM) 1 F9

Forel 71860404007 Oval Suction Cup 370x150 1 ex-consignment

Forel 71860404007 Suction Cup 370 x 150 2 Shelf

Forel 71860502026 Brush (For Head) 0 ex-consignment

Forel 71860502026 EM brushes 4 pack 2 F9 Half Pack

Forel 71860854032 Presetting Vertical Blade L=59 1 ex-consignment

Forel 71860854033 Prestting Dumper A3 1 ex-consignment

Forel 71861004000 Bellow D50_40/100 C100 4 ex-consignment

Forel 71880002084 Bushing Wheel Feeler 1 F1

Forel 71960001010 Lowered Wheel support 10 F47 3 used



Forel 71960133105 Cork Applicator Foam Wheel 20 ex-consignment

Forel 72001354607 Copper Gasket for Aluminium 2 F4

Forel 72001356317 Pin for Doser Cylinder 0 F21

Forel 72001714021 Swivel Joint Rod (Hot Melt) 1 F7
Forel 72001716306 Hot Melt Dos Cylinder Piston head 1 F17

72003256102 Guiding Block for catalyst rod 1 F21

Forel 72003406078 Mixer Duct 0 Used

Forel 72003494006 Depth Reading Cam 1 F45

Forel 72003924186 Depth Feeler Shaft 0 F40

Forel 72003924198 Nozzle Insert Long R40 1 F12
Forel 72003924255 Offset Insert Front Plate 2 F12
Forel 72003924257 Bushing For OR Insert SF 12-15 1 F12
Forel 72003925136 Rubberized insert 0 F41
Forel 72003925138 Rubberized Insert L=70 20 ex-consignment

Forel 72003926003 Base Shaft 1 Floor

Forel 72003926004 Catalyst Shaft 1 Floor

Forel 72003926011 Cyclinder Joint 0 B

Forel 72004074222 R40 Nozzle Plate (Short) 1 F12

Forel 72004234025 Mixer Fast Joint 1 F12

Forel 72004234059 Tilting Holder Spout Insert 1 F12
Forel 72004234060 Base for Nozzle Insert, No Stepped 1 F12
Forel 72004234061 Tilting Insert Pivot SRNL 2 F12
Forel 72004234098 Base for Nozzle Insert, Stepped 1 F12
Forel 72004234111 Spring for Spatula 2 ex-consignment

Forel 72004234111 Spring for Spatula (Commercial line) 1 F33
Forel 72004235083 Cleaning roller 3 F9

Forel 72004324100 Support for Spatula 1 F33

Forel 72004324110 Rot Pallet 1 F33

Forel 72004794528 Product Dosing Pin (base) 3 F15

Forel 72004794529 Catalyst Dosing Pin 5 F15

72050014160 Nozzle closing Pin 1 F4

Forel 72301204013 Flange PAM P52 1 F18

Forel 72301234010 Gearbox P52 P7 D=9 1 F18

73000303002 Vulkollan Gasket Catalyst 2 Shelf
73000303003 NBR Black Gasket For Catalyst Plate 2 Shelf



Forel 73000980014 Nylon Protection For Catalyst Plate 2 Shelf
Forel 76400741800 Thickness Reader Teflon Pad H=41 2 ex-consignment

Forel 76400741801 Bushing Thickness Reader Pad H=39.5 1 ex-consignment

Forel 76400822600Bushing Thickness Reading Pad H=19.5 1 ex-consignment

Forel 76400822601 Thickness Reading Teflon Pad H=21 1 ex-consignment

Forel 76401365000 Spacer Pin 16 L=25.5 5 F25

Forel 76401591099 Testina Appoggio Telaio 5 F32

Forel 78500010071 Water Nozzle D=2.5 4 ex-consignment

Forel 78500010073 Rack Wheel 45.5x10.1x3.5 100 ex-consignment

Forel 78500010073 Rack Wheel 56 F29

Forel 78500010083 Rubber Silicone Strip H=65 Thick 1.3 36m ex-consignment

Forel 78500010098 Rubber Gasket For Rinsing Nozzle 4 ex-consignment

Forel 78500010102 Rubber Silicone Strip H=40 Thick 1.3 48m ex-consignment ex-consignment

Forel 78500010132 Wheel Support D=48 56x20 10 ex-consignment

Forel 78500010132 Backboard Wheel Support 10 F40

Forel 78500010133 Brass Pin D=10/12 10 ex-consignment

Forel 78500010133 Brass Pin 10 F40
Forel 80900643004 Tow Roller Assembly (Short) 1 F42
Forel 80930001503 Profile Guide Wheel Assembly 46x34 4 ex-consignment

Forel 80930001503 Profile Guide/Press Qwheel (Butyler) 1 F25
Forel 80930021503 Profile Guide Wheel Assembly 61x34 3 ex-consignment

Forel 81860164015 Complete Vacuum Control Assembly 2 ex-consignment

Forel 81860202020 Cable Chain Assembly EM CPS 1 ex-consignment

82003406199 Seals Kit Assembly Base Doser SR 1 F21
Forel 84000020000 Doser Piston Assembled SAHM 0 F21SPARES ORDERED

84004280000 Dozer Gasket Pack 0 F49

Forel ########### Linear Bearing 1 F21

Forel 841960297801 CA Mod Head Assy Min Cork Pad Plate 1 Box on Shelf

Forel 00826.5kW Heating Element/INOX Tubular L=650 2 ex-consignment

Forel 0147UK Bearing 2206-2RS 2 ex-consignment

08B-1Stainless Steel Simplex Chain Links 1/2" Pitch 6 Shelf

08BSS-1Stainless Steel Simplex Chain 1/2" Pitch >10m Shelf

Forel 15MCN4070100 Electric Grease CN 4070 100g 2 ex-consignment

RS 202-1730 Festo cylinder Thickness measure 1 F35

Forel 2115010065F Handle M10 D25xL65 3 F45



Forel 211GN34290 Lever Indexing Plunger Thorite

Forel 231030052105 Oil Seal 30x52x10 10 ex-consignment

Forel 233BRS116 Anti Extrusion Ring 116 PTFe 1 F4

Forel 233BRS118 Anti Extrusion Ring 118 PTFe 2 F4

Forel 233BRS332 Anti Extrusion Ring 2 F4

Forel 233EGR0500A1 Gasket EGR 0500 Aviton 2 F17 Also F4

Forel 233EGR0500A1 Gasket EGR 0599 Viton 4 F4

Forel 233EGR2000A1 Gasket for Butyl Cylinder 0 Floor

Forel 233GT25081 Guiding Ring GT 25081 1m F17 Also F4

Forel 233GT25081 Guiding Ring GT 25081 1 F4

Forel 233GT25081 Gasket IGR 0060 B Viton 0 F4

Forel 233TG410045T10V Gasket TG 4100150-T10V 4 F4

Forel 23615AA075 Belt AA 75 ESAFlex 0 Floor

Forel 23641100H200 Timing Belt 1100 H 200 1 ex-consignment

Forel 2364AT10161100I Timing Belt AT10 H=16 L=1100 1 ex-consignment

Forel 2364AT10321377BTiming Belt AT10-32-13770 (Domestic Press) 1 Floor

Forel 2364AT10501130L Timing Belt T10 H=50 L=11300 2 Floor Ddee Bearings
Forel 2364AT10501749BTiming Belt AT10-5-17490 (Commercial Press) 1 Floor

RS 242-0005 Cable for Sensors 0 F42

Forel 2847HCLT043046 Snap Clamp 43.2-46.2 4 ex-consignment

Forel 2847HCLW053057 Snap Clamp 53-57 4 ex-consignment

Forel 2944E180141500S Spring D=0.36 D=4.57 L=38.1 1 ex-consignment

Forel 294XS8151T Spring Traction D=0,4 D=6.5 0 F4

Forel 30022052RS Bearing 2205-2RS 4 ex-consignment

Forel 3006205ZC3 Bearing 6205 (Hot Melt Swivel Jint) 1 F7
Forel 3006242Z Bearing Wheel 624 2Z 4 x 13 x 5 0 F2

Forel 3007205BE Bearing 7205 (Hot Melt Swivel Joint) 1 F7
Forel 301UCFL204 Bearing UCFL204 2 ex-consignment

DDEBearings 302LUCT25 Sleeve Support Bearing 4 F11

31-4003-0516 Flange Bearing Cast UCFL 208 1

Forel 31-4003-7410 Hub 4

Forel 31-4003-7460 Toothed Ring 2

31-4003-8310 Taper Lock Bushing 1

31-4043-2080 Double Roller Chain 3/4 x 7/16 1m

31-4122-5250 Coupling Type K2N30/RO36 2



Forel 318KWEM12Slide Bearing (Pane stop device, Corner Spatula)3 F25 Dundee Bearings
RS 339-730 Float Switch for Commercial Wash 6 F38

Forel 34736BES516377Inductive Sensor (BES516-377-E0-C-S49-00,2) 1 ex-consignment

Graco 3476015A830 Seat Valve 6 F17 15A830 Graco
Graco 3476015A835 Nut Packing 2 F17 15A835 Graco
Graco 3476015T260 Packing O-Ring White Seal Ring 8 F17 15T260 Graco
Forel 34PXVEH062DA2 Mesh Filter Cartridge (Green) 1 ex-consignment

Forel 34S402900R Fastening Bayonet Connection Red 4 ex-consignment

Forel 34SHPA400750 Water Nozzle Collar HPA 3/4" 4 ex-consignment

Forel 34SR11003HSF Spray water Nozzle 60 ex-consignment

Forel 3541404L43 Fitting 1 F32

Forel 3572VPW95STNF Suction Cup D=95 (VPW95STN-F) 4 ex-consignment

Forel 3572VPW95STNF Suction cup 2 F30

Forel 35AL325P0300175 Air filter 3 1 ex-consignment

Forel 35AL325P0600175 Air filter 2 1 ex-consignment

Forel 35AL325P1000175 Air filter 1 2 ex-consignment

Forel 35C13204 Fitting D=04 4 F34

Forel 35MW5625V705 Emergency Bleed Pneumatic Valve 1 F24

Forel 35P0122884 Vacuum Generator Inline 8 ex-consignment

Forel 35P0125685 Vacuum Switch VS4016-65kPa 5 ex-consignment

Forel 35P3500149 Vacuum Generator 5 ex-consignment

Forel 35PX10 Vacuum Pump 1 F16

35SCD85N08025B 35SCD85N08025B Cylinder CD85 N 08-025 2 F35

Forel 35SDH7A2 Magnetic Sensing Device D-H7A2 1 ex-consignment

Forel 35SDR732L SMC Magnetic Sensor D-R732 1 ex-consignment

Forel 35SKK3P02MS Air Fitting 4 F34

Forel 35SKK3S06H Fitting female 2 F34

Forel 35SM5HL4 Ring Nut Air Fitting 6 F25

Dundee Bearings35SMXH1640 Final Cut Cylinder 1 F26 MXH16-40
Forel 35SZH10BS0101 Vacuum Ejector 0 ex-consignment

Forel 35SZH10BS0101 ZH10BS-01-01 0 F34

Forel 35SZPET050UMCLASuction Cup 050 SMC (ZP3E-T50UMCL-A10) 2 ex-consignment

Forel 35SZPET100UMCLASuction Cup 100 SMC (ZP3E-T100UMCL-A16) 2 ex-consignment

Forel 35Z10010110508 Suction Cup D=40 1/4" 2 ex-consignment

Forel 368FM2603 Filter for Catalyst Drum Pump 2 F19



Enerfluid 36E1605217D6 Hyd Pump (160.52.17D.6) 1 Floor
SP 36PDG10520SRVIT Swivel Joint for Mixer Track 1 F6
Forel 36PMS1613080 Helix Mixer L=080 0 ex-consignment

Forel 36PMS1613260 Helix Mixer L=260 3 ex-consignment

Forel 36PMS1613260 Mixer Helix L=260mm 0 used

Forel 3IGTWE0415 Igus Linear Bearing TWE-04-15 2 ex-consignment

RS 400-1899 LC1D09BL Contactor 2 F33

Forel 40ME2BM12LS04WP Inductive Sensor E2B-M12K504-WP-B2 2 F36

Forel 4545M124PF BCC06Z9 4 Pole M12 Female 4 F20

Forel 4545M124PM BCC06M4 4 Pole M12 Male 4 F20 RS 905-5093
Forel 4545M83PF Connector 3 Poles M8 Female 3 F20

Forel 4545M83PM Connector 3 Poles M8 Male 2 F20 , + 1 used

Forel 45RH30190A11DP2 Rotative Transducer 0
Forel 4703A080404500M Heater 8 x 404 2 F50

Forel 4703A650500160M Heater Diam 6.5mm 1 F46
Forel 4ASHT2200S0UPS2 PC H2200 1 Upstairs Office

Forel 4BACONN90GRADI Cable 5m 90° Connector 2 ex-consignment

Forel 4BAD12PNPIInductive Sensor (BES M12MI-PSC40B-BV05) 3 ex-consignment

Forel 4BAD12PNPINCInductive Sensor (BES 516-3019-E4-C-PU-05) 1 ex-consignment

Forel 4BAUMYCOMM75P80 Baumer Switch M75P80 1 ex-consignment

Forel 4BDMDSD202800001Servo Motor 1.2N 1.7A Servo 4K5R SEK37 BR 1 Shelf

Forel 4BEEL3255Potentioometer Input +10VDC Volume Feeler1F45 Beckhoff

4BEZK1090616120 Ethernet Cable 2m 1 F28

4BEZK1090619155 Ethernet Cable 5m 1 F28

Forel 4BM324785CPOT20 Power cable (P20161) 1 Floor

Forel 4BM3274784CPOT15 15m Power Cable 1 Floor

Forel 4BM4299635CH105 Encoder Cable 10m 1 Floor

Forel 4BM429963SCH10S Encoder cable(P21340) 1 Floor

Forel 4BM429964SCH15S Encoder Cable 15m 1 Floor

Forel 4BM429965SCH20S Encoder Cable 20m 0 Floor

Forel 4BMDSD203600000 Servo Motor 2N2, 55A 1 Shelf Repaired

Forel 4BMDSD203600001Servo Motor 2.8N 45A Servo 4K5R SEK37 BR 1 Shelf

Forel 4BMDSD203600004 Servo Motor 1.2V 2,05A 1 Shelf

Forel 4BMDSP107100000 Servo Motor 24V 13,8A 1 Shelf

Forel 4CV10NPSDRM083P Cable 10m SCHM8 3PIN Female 1 F38



Forel 4DLS15PA3D50PK Datalogic S15-PA-3-D50-PK 2 ex-consignment

Forel 4DLS55D5092 Datalogic S5-5-D50-92 3 ex-consignment

Forel 4EL43H4B05 Linear Actuator 4300 1 F27

Forel 4EL43H4B0542700 Linear Actuator 4300+43H4B-05-A27 1 F27

Forel 4ELE57H4T05 Linear Actuator 5700 1 F27

Forel 4GEAA1C050B0 Linear Potentiometer PA1C050B0 1 F43

Forel 4GEME06B05C140 Pressure Transducer High Temp 1 F43

Forel 4GEPZ12A100 Linear Potentiometer 1 F43

Forel 4GEPZ12A125 Linear Potentiometer PZ12A 125mm 1 F43

Forel 4GEPZ12A50 Linear Potentiometer PZ12A050 1 F43

Forel 4GEPZ12A75 Linear Potentiometer PZ12A 75 1 F43

Forel 4LNSLS095005000 Linear Potentiometer R50 4 F43

Forel 4LNSLS09500502K Linear Potentiometer 50mm 1 ex-consignment

Forel 4LNSLS09500753K SLS095 Linear Potentiometer R66 4 F43

Forel 4LZMF0803200000 Motor & Inverter 2.2kW 1 Shelf

Forel 4MDUK6ADP0EUL Ultrasonic Sensor UK6A/HP-0E09UL 3 ex-consignment

Forel 4MDUK6APOEUL Ultra-sonic Sensor(micro detectors) 2 F36

Forel 4RSCINTLIVELLO RS Float Switch 1 ex-consignment

Forel 4RSCINTLIVELLO1 RS Float Switch (Ring) 1 ex-consignment

Forel 4SENTDMINI Takex Postage Stamp Sensor 1 ex-consignment

Forel 4SENTDMINI Sensor 15mm ASGZ15RPN F0690 1 F38

Forel 4SRH30190A11DP2 Rotative Transducer 1 ex-consignment

Forel 4SRH30190A11DP2 Rotative Transducer 1 F27

Forel 4TEXCSDMP Safety Magnetic Sensor XCSDMP7 1 ex-consignment

Forel 4THTRPRIC0001M Temperatutre Sensor PT100 3 F46

Forel 4THTRSV8P1A3150 T100 Heating Sensor 3x150 TRSV8 2 ex-consignment

Elesa 51622 PMT 101 Indexing Plunger (For Centrifuge) 3 F16
Dundee Bearings6004 2RS S/S Press wheel bearing 0

Dundee Bearings6006 2RS S/S Press wheel bearing 4 F2

RS 624-0169 Cylinder CD85N12-25-B 2 F35

D'dee Bearings 624-2Z Bearing 4 x 13 x 5 6 F2

Promac 62-4TEA9F94216 C16A Breaker 4 F28

Dundee Bearings 625 2RS S/S Feeler wheel bearing 12 F2

Promac 62-6552 Gasket(feeler wheel em) 0 A

Promac 62-71850302031 Feeler wheel spacer 3 F2



Promac 62-71860042035R Rubberized wheel D64 L13 3 F1

Promac 62-71860202030 Feeler wheel arm` 0
Promac 62-71860404008 Oval suction cup (200x150) 3 F10

Promac 62-72003925136 Rubberized Inserts 0 B

66-1000-0021 Loader Shaft 0
66-1000-0148 Double Chain Wheel 19 Chains 0

RS 686-6985 Micro Switch 4 F31
Dundee Bearings 6882RS Bearing for Pressing Wheel Spindle 10 F25

Forel 705020553306 Rubber Sleeve 56x45x40 11 ex-consignment

Forel 71860022084R Rubberized Wheel D=49 L=12 4 ex-consignment

Forel 71860022084R Rubberized wheel D49 5 F1

Forel 71860042035R Rubberized Wheel D=64 L=13 4 ex-consignment

RS 743-65441/4" Male Elbow, 6mm Push in(Hot melt sealing head)8 F34

Forel 80502003012R Mobile Bush Upper Housing Assembly 2 ex-consignment

Forel 80502003046R Mobile Bush Lower Housing Assembly 2 ex-consignment

Forel 80505047211R Fixed Bush Lower Housing Assembly 1 ex-consignment

Forel 80900621601R Rubberized Spacer Wheel 4 F2

Forel 80930142001R Rubberized Wheel Assembly 90x22 2 ex-consignment

Forel 81860032002R Feeler Wheel Assembled 4 ex-consignment

Forel 82003926009R Dosing Valve Rebuild Kit 0 B

Forel 82003926009R Graco Valve Rebuild Kit 0 ex-consignment

RS 838-8935 Cylinder CQ2B12-5D 2 F35

RS 863-3554SMC AS Series Threaded Flow Controller, M5 to 4mm7 F34

D'dee BearingsCD85N10-80C-B Cylinder for Applicator Jockey Arms 2 F35
Dundee BearingsCD85N12-100-B Cylinder for Commercial Wiper 0 F3535SCD85N12100B

D'dee BearingsCD85N16-150-B Cylinder (Pane Press Cylinder) 1 F35

RS CQ2B16-10D Cylinder 2 F35 RS 196-4525

CQ2B63TF-10DZ-XB6 Cylinder (Hot Melt Nozzle) 1 F4

Forel E2B-M12KS04-WP-B2 Proximity Sensor(omron) 0 F36

Domino EPT009810SP Make up module 1 Top shelf

Elesa GN34290 Cam Action Indexing Plunger 0 F16
INDO11 Centrifuge Bolts Spring Plunger 0 F16

Forel INDO23 Cam Plunger M12 x 1.5m 5 F16

Domino ITM02 AX Series ITM Type 2 1 Shelf

Dundeee BearingsMGPM16-100ZSMC Cylinder For Pane Pressing Wheel 1 F39



Shako MSV8632-01LB Valve for Lifter at end of Forel Dom Line 1 F26

Dundee Bearings MXH6-40Z Cylinder 3 F26

D'dee BearingsNU2207-E-XL-TVP2 Bearing for Comm Press Belt Drives 2 F5

D'Dee BearingsRCK61-12 x 22Locking Bush for Vertical Buffer Drive(Dom Applicator)1 F18

Dundee Bearings SPA 850 Drive belts for wash 4 Floor

P.A.L Engineering STA-65 O'Ring for bottom of centrifuge 2 Shelf
Euchner TP3-4121A024M Safety Switch 1 F8 Also 1 body
Dundee BearingsUCFL 204-20 Forel Wash Opening Bearing 1 F2

Zoro ZT3436585S Optical Mouse 2
Amazon Keyboard & Mouse Set 1 Shelf 3 keyboards+2Logitech

Amazon Pizzato K13PX1-121602 Px 10110 Foot Switch 1 Shelf



Type: Date Checked: 01.12.2024

Checked By: CW

Supplier Code Item Qty Location Alt Supplier

Forel 398733 Mixing Helix D=14,5-14,7 L=318 2 Shelf Domestic

Forel 4246020 Magnetic Sensor D-C73L24VDC 1 F31 Domestic

4578155 Cable Chain Conduflex 1 Floor Domestic

Forel 18680050 OR String D=5 10 F49 Domestic

21420403 Filter Cartridge 5.12.000 0 Shelf Domestic

Forel 21420504 Coal Cartridge Filter 1 Floor Domestic

Forel 71068341 Rubber Sleeve OD80, ID60 L37SHA80 79 Box Domestic

Forel 230001141 Gasket 114 Viton 21 F4 Domestic

Forel 230020501 Gasket 2050 Viton 23 F4 Domestic

Forel 236120850 Belt Spa 850 8 Floor Domestic

Forel 391013503 Cutting Blade 135.3 24 F22 Domestic

Forel 26860025036 Cotter Pin Uni 1336 Steel 2.5 x 36 600 Box on Shelf Domestic

Forel 70502053306 Rubber Sleeve 56x45x40 2 Box on Shelf Domestic

Forel 70502578604 Filter Mesh 0 Box Domestic

Forel 70502578605 Mesh Holder Frame 1 Box Domestic

Forel 70503268615 Drainer Filter 1 Box Domestic

Forel 70900012012 Rubber Sleeve D=79x59x20 8 ex-consignment Domestic

Forel 70930001116 Timing Belt RPP5 SV.235 H25 2 F45 Domestic

Forel 70930011926 V Shaped Punch 94degree 7 F22 Domestic

Forel 70930011929 Counterplate for punch 7 F22 Domestic

Forel 70930012132 Timing Belt AT05 H=25 L=1080 1 Floor Domestic

Forel 70930281001 Pressing Wheel H=7,3 TBB A3(6.8mm) 4 F25 Domestic

Forel 70930281601 Counter Plate TBB 8 F22 Domestic

Forel 70930351906 Spacer Scrap Extractor 27mm 1 ex-consignment Domestic

Forel 71020954306 Inflatable gasket APGSA4 L=4100 4 F49 Domestic

Forel 71021647005 Glass Stopper AP04025ES 2 F15 Domestic

Forel 71030014215 Gas Sponge 20x20x143 5 F19 Domestic

Forel 71030097018 Stop Pane Pad APG6032A1 1 F25 (see F15) Domestic

Forel

Ravensby Glass Engineering Stock Take



71960003123 Drive sprocket for cork tape 1 F9 Domestic

Forel 71960133105 Foam Wheel Cork Applicator 18 F39 Domestic

Forel 72001354629 Teflon Nozzle Seal 9 F4 Domestic

Forel 72002342001 V Drive Wedge Inserts 308 Box on Shelf Domestic

Forel 72002622061 V-Shapped Runner Holder 5 Box on Shelf Domestic

Forel 80900621601 Rubberized wheel Assembly D17 H5 0 F2 Domestic

Forel 318101203210 Free Wheel 1 F3 Domestic

Forel 233IGR0260B1 Gasket (Hot Melt Swivel Joint) 5 F7 Domestic

Forel 23615AA075 Belt AA 75 ESAFLEX 2 Floor Domestic

Forel 23641000H200 Timing Belt 1000 H 200 1 Floor Domestic

DDE Bearings2364AT1025960 AT10-960 Timing Belt 3 F50 Domestic

Forel 2382VSIP56450AL Silicone Profile P564 50SHA White 4m F49 Domestic

294XS8151T Spring Traction D=0, D=6 5 L=38 1 F15 Domestic

Forel 30060002Z Bushing Wheel 6000 2 F2 Domestic

Forel 30060012Z Bushing Wheel 6001 1 F11 Domestic

Forel 34760512613S Burst Disc 1 F26 Domestic

Forel 3572COBC55110M Oval Suction Cup 1 F30 Domestic

Forel 35EMTC001 Protection Cap 100-115 9 F14 Domestic

Forel 35P0122884 Vacuum Generator Inline 6 F16 Domestic

Forel 35SDH7A2 Magnetic Sensing Device 1 F31 Domestic

Forel 35SZH10BS0101 Compact Ejector ZH10BS-01 5 F34 Domestic

Forel 35Z10010110508 Suction Cup D=40 1/4" 2 F30 Domestic

Forel 35Z10010110512 Suction Cup D=60 3/8" 2 F30 Domestic

Forel 4246DA93L Magnetic Sensor D-A93L 1 F31 Domestic

Forel 4246DF9PL Magnetic Sensor D-M9PL PNP 3 F31 Domestic

Forel 4246DM9PZ Sensor D-M9PZ PNP COD 1 F31 Domestic

Forel 4246DY59BL Magnetic Sensor D-Y59B PNP SMC 1 F31 Domestic

Forel 4703A1001000250 Heater D=10x100 V400 2PH.W250 3 F46 Domestic

Forel 4703A650500250M Heater D=6, 5 x 50 V400 W250 UTM 3MT 1 F46 Domestic

Forel 4BAD12PNPI IND.Sensor D=12 BESM12MIP 2 F36 Domestic

Forel 4BAD12PNPIHIGHT Sensor BES516 High Temp Balluff 2 F50 Domestic

Forel 4BAD12PNPIM12 Inductive Sensor D=12 BES 1 F36 Domestic

Forel 4CASU0B20A Ultrasonic Sensor DLSU0B20A 1 F48 Domestic

Forel 4DLS15PA3D50PK Photocell s15-PA-3-D50 6 F36 Domestic

Forel 4DLS55C10320000 Photocell S5-5-010-32 1 F37 Domestic



Forel 4DLS55D5092 Photocell D18 S5-5-D50-92 M12 9 F23 & F24 Domestic

Forel 4LNSLS09500502K Linear Potentiometer 0 Domestic

Forel 4MDAK6D2SH00000 Sensor Inductive 0-10V 2 F37 Domestic

Forel 4MDUK6ADP0EUL Ultrasonic sens. M18 1 used F36 Domestic

Forel 4OME2AM12 Inductive Sensor D=12 NC 3 F37 Domestic

Forel 4OME2BM12CM1200 Inductive Sensor D12 3 F37 Domestic

Forel 4OME2BM12CONM12 Inductive Sensor D12 NC 2 F37 Domestic

Forel 4PEUB20012GMUV1 Sensor Ultrasonic UB200-12GM-U-V1 4 F37 Domestic

Forel 4SENP43F4V2D1C0 Ultrasonic Sensor 1 F48 Domestic

Forel 4TH2112267003 Teperature Probe 1 F50 Domestic

Forel 4THTR6000450 Temperature Probe 0 Domestic

Forel 5703A080404510 Heater Element D=8x404 U90 1 F50 Domestic

Forel 5703A450500130 Heater D=4,5x50 V400 W125 9 F46 Domestic

Forel 5703A650500170 Heater D=6,5x50 V400 W160 1 F46 Domestic

Forel 5703A650500490 Heater D=6,5X50 V400 W250 1 F46 Domestic

Forel 5THTR6000450125 Heater Sensor PT100 4x50 L=125MM 6 F46 Domestic

Forel 5THTR6000450190 Heater Sensor PT100 4x50 L=190mm 0 F46 Domestic

Forel 5THTR6000450340 Heater Sensor PT100 4x50 L=340mm 0 Domestic

Forel 5THTR6000450460 Heater Sensor PT100 4x50 L=460mm 1 F46 Domestic

Forel 82001724017R Complete Mixer for Thiokol 1 Shelf Domestic

Forel 82004894006R Nozzle Assy No Spout Insert 1 Shelf Domestic

Forel 82050054003R Nozzle Assy Shut No Heater PT100 0 F50 Domestic

DDEBearings CK12 Clutch Bearings(Cork Padder) 4 F11 Domestic

Danvac MTC.008 MTC 8 Protection Cover 4 F14 Domestic



Type: Date: 01.12.2024
Checked By: CW

Supplier Code Item Qty Location Alt Supplier

Glaston 46440 Angle Gearbox 0 Glaston W/S
BOC 846022 Flowmeter 1 Shelf
RS 122-8228 Twist Selector 1 G6
Rs 153-3737 Hinge 2 G6
RS 250-075 Phillips 24V 250W 10 G10
RS 270-697 8mm x 50mm Dowel Pin 14 G2
Ddee Brgs 315KW 315KW blower motor 1 Factory
Ddee Brgs 3Kw4Pole Main Drive Motor 0 Glaston W/S
dde brgns 5.52KW Hot Air Convection Motor 1
Dundee Bearings 6003ZZ Bearing 3 G5
dde brgns CSK 17 PC5 Clutch Bearing 2 G5
Beckhoff EK1100 Communication Card 0 Shelf SEE BECKHOFF SHEET
Beckhoff EL3318 Thermo Couple Input Card 0 Shelf SEE BECKHOFF SHEET
Glaston GT3 1040 8MGT Cullet conveyor Belt 6 Glaston Shelf
DDE brgns GT3 1400 14MGT Timing Belt 1 Glaston Shelf
Keyence LV-S63 Sensor 1 G1
Casell Lighting M88.CA Chiller bulbs 30 G10

P569036N3 Fastener Assy 23 G8
D'Dee Bearings S/SUC205 Stainless Steel Bearing 7 Shelf

STD 656 S8M Timing Belt 3 Glaston Shelf
D'Dee Bearings SUC204 Stanless Steel Bearing (Chiller) 6 Shelf
Touch&Display TSOPA-2200-SW Touch Screen Display 1 Office
Dundee Bearings UC204 Chiller roller bearing 3 G7
DDEBrg UC205 Bearing 2 G7

UP004 FYH UP 004 Bearing 13 Shelf
dde brgns XPC4750 Gates Belts 8 Hooks outside W/S
Glaston Z1185 Set Screw 0 Glaston W/S
Glaston Z1299 Chiller Rubber Gasket 26 G5
Glaston Z1845 M4 Nut 54 G3
Glaston Z200327 Bearing Housing 2 G2
Glaston Z200892 NXC Filter Kit (for both invertors) 1 Glaston Shelf
Glaston Z2160 Silicone Wire 6.3m Glaston Shelf
Glaston Z255 Taper Lock Bush 1 G5
Glaston Z26628 Bearing 4 G5
Glaston Z27729 Screw 27 G3

Glaston

Ravensby Glass Engineering Stock Take



Glaston Z29628 M4x30 Screw 12 G3
Glaston Z29788 Lug, Cable 0 At Furnace
Glaston Z32631 Timing Belt 14MR-PGGT-1400-55 1 Shelf
Glaston Z35237 Heta Insulation Cloth 0
Glaston Z36431 SS Cable ties 180 G6
Glaston Z37170 Binding Wire 1 G3
Glaston Z38212 Sensor Position 1 Shelfs
Glaston Z39292 M4x16 Cap Screw 52 G3
Glaston Z41200 Relay Semiconductor 51 0 G1
Glaston Z43773 Split Pin 3.2 x 32 32 G3
Glaston Z44049 Split Pin 2 x 16 36 G3
Glaston Z44142 Circuit Breaker Miniature 6 Shelf
Glaston Z44302 Directional Valve 1 G6
Glaston Z44754 Sock Fibre(1.6M) 1 Shelf
Glaston Z537 Retaining Ring External Circlip 20 x 1.2 2 G3
Glaston Z60442 Grub Screws 0 G3
Glaston Z60482 Relay Semiconductor 50 7 G10
Glaston Z60483 S.S.R 4 G1
Glaston Z60536 Frequency Converter (Hot Air) 1 Glaston Shelf
Glaston Z60560 Frequency Converter (Main Drive) 1 Glaston Shelf
Glaston Z61418 Sock Fibre 7M Glaston Shelf
Glaston Z62579 Thermo Element, NI-CRNI L=1.7m, D=3m 24 Fowler
Glaston Z63055 Bus Bar 1m 1 Shelf 0.6m
Glaston Z63780 Ferrule A10.2 0 At Furnace
Glaston Z67221 Conveyor Frequency C300-024 00041 1,5 1 Shelfs
Glaston Z7453 Lock Bushing 50 x 65 1 Shelf
Glaston Z7706 Bearing Unit (dundee bearings) 4 G8
Glaston Z7907 Lock Bushing 45 x 59 1 Shelf
Glaston ZG201584 Filter kit 0 Outside W/S
Glaston ZP203159M28 Chiller Roller 0 Arrisser
Glaston ZP203159W28 Chiller Roller 0 Arrisser
Glaston ZP209242N28A Solid wound chiller Roller 0 Factory
Glaston ZP312104W28 Roller Coated (Solid Wound Kevlar) 0
Glaston ZP322790N28 Heating Wire Coil 4 Box 1
Glaston ZP322791N28 Heating Wire Coil 4 Furnace
Glaston ZP322792N28 Heating Wire Coil 4 Furnace
Glaston ZP35382N28 Coated roller (Furnace unload) 1 Blower Room
Glaston ZP35566N42-A Steel Belt 1 Blower Room
Glaston ZP402645N00 Guide Pulley( Output end chiller) 2 G6
Glaston ZP403897N00 Pulley Timing 64-14M-55-D65 1 Shelf
Glaston ZP403901N00-A Timing Pulley HTD 38-14M-55, D59H7 1 Shelf
Glaston ZP406133 Guide Pulley(Load Conveyor) 3 G8



Glaston ZP406678 Shaft 2 G7
Glaston ZP406680 Shaft 2 G7
Glaston ZP408763N00 Shaft, Assembly 1 G8
Glaston ZP411039 Ceramic Part D30/D19/-20 Cer 530 4 G3
Glaston ZP411040 Washer, Lock D18/D6.5-6 AISI 316 4 G3
Glaston ZP43612N00-A Roller gasket 6 & 30 G6
Glaston ZP44183N00-C roller drive wheel 6 Shelf 1 used
Glaston ZP506589N28 Hatch 28xx Furnace Door 0 Side of Heat Soaker
Glaston ZP509077N28 Heat Insulation Cloth 1 Blower Room
Glaston ZP520188 Cylinder Assembly(cooling chimney) 0
Glaston ZP523642_A Ceramic Ring D26 x 38 x 10 48 G4
Glaston ZP523805L Wheel (Load Conveyor) 1 G8
Glaston ZP524236 Ceramic Part 20 x 18 x 11, D=6 47 G4
Glaston ZP526128 Ceramic Pipe D12/8-79 0 G4
Glaston ZP526778N1 Shaft Assembly 5 G9 1 used
Glaston ZP529576 Ceramic Pipe 3 Shelf
Glaston ZP530299N2 Shaft 0 Glaston W/S
Glaston ZP530690N1240 Heater Top 1 Furnace
Glaston ZP530690N2240 Heater Top 0 Furnace
Glaston ZP530690N3240 Heater Top 1 Furnace
Glaston ZP530696 Ceramic Pipe 0 C
Glaston ZP530697 Ceramic Pipe 8 Blower Room
Glaston ZP531354 Heating Wire Coil(4kw) 1 Box 1
Glaston ZP531356 Heating Wire Coil(6Kw) 5 Box1
Glaston ZP534826 Blower Centrifugal 1 Furance Area
Glaston ZP534838 Ceramic Pipe 8 Blower Room
Glaston ZP534843 Heating Wire Coil(8kw *weld req) 1 Box1
Glaston ZP535576 Ceramic Pipe 1 Glaston Shelf
Glaston ZP536637 Ceramic Ball 737 Glaston Shelf
Glaston ZP538663N1-A Roller end coupling 8 G7 5 used
Glaston ZP538673N1 Female Chiller Drive Coupling 27 Shelf
Glaston ZP539449N1 Triplex Bearing Assembly 0 G9
Glaston ZP539449N2 Duplex Bearing Assembly 1 G9
Glaston ZP541552-A Flanged Ceramic Part 35 Glaston Shelf
Glaston ZP542485N1 Plate Gasket D20/D5 50 G3
Glaston ZP542485N2 Plate Gasket D20/D4 51 G3
Glaston ZP544485N28240 Crosswire bottom heater 0 Furnace
Glaston ZP545334 Connector 4 G3
Glaston ZP54938N240 8KW non welded top element 2 Box 1
Glaston ZP54944N240 4KW Non welded top element 6 Box 1
Glaston ZP590065M3 Electric Motor IEC 3kW 1 Blower Room
KTS Ceramic Blanket 1Box Blower Room



Elementation Refurbished Heating Elelmnets 6 Dispatch Area
Ddee Brgs Bearing 6003-2Z C3 8 G5
Glaston Ceramic Rollers 0 Glaston W/S
Glaston Ceramic Rollers 0 Glaston W/S
KTS Roller Gaskets 100 Shelf
Glaston Z29628 Screw, M4 x 30 (For new SSR) 25 G1
Glaston Z1845 Nut, M4 (For new SSR) 25 G1
Glaston Z61776 Capacitive Sensor 2 Shelf



Type: Date checked: 01.12.2024
Checked By: CW

Supplier Code Item Qty
Location

Alt Supplier

Fuchs 559978 Pepperl and Fuchs Sensor 1 H5
900043 Bearing Cover 3 H2
900047 Bearing Cover 1 H2

RS 188-1151 3-Pos Switch, StayPut 4 H14
RS 188-1152 3-Pos Switch, Spring Return 2 H14
Hegla 188-1156 Green Iluminated Switch 1 H12
RS 188-1157 Selector Switch (Green) 2 H12
RS 264-5087 Cylinder CD85N25-40-B 0 H14
RS 290-1416 24V DC Relay 4 H1
Hegla 30-1500-9296 Suction Cup Holding Bracket 1 Top Shelf
Hegla 30-3001-6641 Vulkolan Ring for stop finger 4 H12
Hegla 30-5001-6001 Roller type 2400 Yellow 2 H9
Hegla 31-0108-0038 Cable 12 core 1.5mm 40M Top Shelf
Hegla 31-0108-0498 Cable 0 Cable store
Hegla 31-0108-0705 Cable 18 core 28M Top Shelf
Hegla 31-0108-0714 Cable 12 core 22M Top Shelf
Hegla 31-0111-0415 25 core 1mm 0
Hegla 31-0120-0181 Energy Chain 0 Shelf at toilet

31-0120-0457 Energy Chain (MP030.2 100) 0 Outside W/S
Hegla 31-0120-0530 Seperating Strip 100 H9
Hegla 31-0120-0844 Stud Link 2 H9
Hegla 31-0120-1070 Energy Chain Connector 2 H5
Hegla 31-0120-1166 Chain Connection Type 2pair H2
Hegla 31-01210-0461 Energy Chain 2M Under Stairs
Hegla 31-0205-0207 Safety Switch 0 H4
RS 31-0209-8211 Reflective Light sensor 1 H1 210-0647
Hegla 31-0210-2058 Cable Socket M8 Straight 1 H1
Hegla 31-0226-1570R Range Finder Laser 1 Shelf
Hegla 31-0290-0829 Multi-Function Audio Warning 2 H14
Hegla 31-3001-5130 Hexagon socket head screw, M8x20 0 At Optimax
Hegla 31-3001-5132 Cylinder screw - M8x25 0 At Optimax

Hegla Cutting Systems

Ravensby Glass Engineering Stock Take



Hegla 31-3004-9728 Washer 8 x 13 x 0.8 0 At Optimax
Hegla 31-4003-5040 Guide Roller 4 H11
Hegla 31-4003-5050 Eccentric Bush/Roller 4 H11

31-4003-7410 Hub 3 H10
Hegla 31-4017-2502 Guide Wheel 0
Hegla 31-4017-2506 Linear Bearing 3 H6
Hegla 31-4021-0300 Toothed rack Type LMZ 5,5 Length: 1030 mm 0 At Optimax

Hegla
31-4021-0405

Toothed rack type Lineartec Special FZ 25, 
made of steel, length: 1230 mm 0

At Optimax

Hegla 31-4021-0425 Toothed Rack LZ 25 - 1230mm 0 At Optimax
Hegla 31-4026-0604 Drive sprocket, as per drawing 9662230400 1 H14
Hegla 31-4026-1010 Running Wheel LR20 0 At Optimax
Hegla 31-4026-1020 Guiding Wheel FR25 0 At Optimax

Hegla
31-4026-1100

Roller cover with scraper & greaser for guide 
wheel LR20

0
At Optimax

Hegla
31-4026-1120

Roller cover with scraper & greaser - for guide 
wheel FR25

0
At Optimax

Hegla 31-4026-5030 31-4026-5030 0 At Optimax
Hegla 31-4037-1184 6500mm Supergrip belt 2 Top Shelf
Hegla 31-4047-1011-A Brush type 6A-17.5 Aluminium 50mm strip 00.1m H10
Hegla 31-4048-9010 Copper Pipe 0.2M H3
Hegla 31-4049-3127 Spring loaded Set screw 5 H3
Hegla 31-4055-1021 Anti-Vibration rubber mount 2 H5
Hegla 31-4055-1150 Rubber metal Connection 3 H3
Hegla 31-4056-9041 Screw on  hinge WU0310740 6 H3
Hegla 31-4057-2000 Red String 25M H3
Hegla 31-4058-0710 Cutting Axle Installation Tool 1 H8
Hegla 31-4063-5120 Filter 2 H14
Hegla 31-4063-5140 Filter For Dust Extraction 1 H14
Hegla 31-4067-0400 Dressing Plate 1 H3
Hegla 31-4073-3710 Holding Clamp 2 H3
Hegla 31-4073-4010 Protective box 0 Factory
Hegla 31-4073-4145 Heating Element (received 01-08 1 Factory
Hegla 31-4076-0081 Motor for grinding 1 Floor
Hegla 31-4076-9020 Brushes For Grinding Motor 1 pair H3
Hegla 31-4076-9050 Dust extractor vacuum pump 0
Hegla 31-4079-0201 Slip Ring Transmitter 0
Hegla 31-4084-4031 Servo Amplifier Type EVS 9321-EP V004 1 Shelf



Hegla 31-4084-5041 Servo Motor 1 Shelf
Hegla 31-4084-5582 Servo Synchro Motor 0
Hegla 31-4122-2200 Clamping Leeve Split Pin 0 H12
Hegla 31-4122-5250 Coupling K2N30 0 H3
Hegla 31-5000-9310 Choke Valve 1 H3 1 Incomplete
Hegla 31-5000-9410 Check Valve for oil refill 1 H8
Hegla 31-5001-9002 Precicion Stainless Steel tip (Clear) 17 H3
Hegla 31-5001-9007 Precision Oil tip 0.61mm (Pink) 7 H3
Hegla 31-5004-0080 Proportional Valve 1 H4
Hegla 31-5004-0081 Proportional valve 1 Shelf used

31-5010-2136 P1PS032DS7G0020 Cylinder 1 H14
Hegla 31-5010-3305 Pneumatic Cylinder 2 H14
Hegla 31-5010-6210 Parallel Guidance For Cylinder(Re-Master) 1 H10
Hegla 31-5011-0641 Magnetic Valve 1 H12
Hegla 31-5011-5011 Red Push Button 2 H14 Parker
Hegla 31-5011-5151 5/2 Solenoid Valve 1 H13 Parker
Hegla 31-5011-5161 5/2 solenoid /solenoid Valve 1 H13 Parker
Hegla 31-5011-5181 5/2 Spring Valve 1 H13 Parker
Hegla 31-5011-5261 5/2 Valve 2 H13 Parker
Hegla 31-5011-6011 Servo Valve 0 H12
Hegla 31-5011-6510 Cable Head 1 H3
Hegla 31-5011-6950 Basic Plate For Oil Valve 1 H8
Hegla 31-5011-9100 Sensor 11 H1 Scattergood
Hegla 31-5012-0105 Venturi valve 1 H5
Hegla 31-5020-7188 Power Socket 1 H8
Hegla 31-5021-0020 Pipe 1 Top Shelf
Hegla 31-5022-0015 Switch 1 H12
Hegla 31-5022-0020 Pressure Switch 0 H12
Hegla 31-5025-0641 Magnetic Valve 0 H12
Hegla 31-5025-0649 Magnetic Valve 1 H12
Hegla 31-5028-2507 Guiding Unit for dressing plate 1 H4
Hegla 31-5063-0200 Vacuum Pump 1 At Optimax
Hegla 32-0001-1050 Chain Protector 0 Shelf
Hegla 36-4500-0013 Lateral Section Deviders 0 Floor
Hegla 36-6100-0210 Cutting Wheel Holder 1 H8
Hegla 36-6100-0355 Rubber for Grippers 8 H2
Hegla 36-6100-0550 Main Body For block dressing 0
Hegla 36-6100-0555 Guide Stripper 0



Hegla 36-6100-1291 Square End Stops (Lam table) 16 H7
Hegla 36-6100-1295 Flat alignement Zero blocks 2 H8
Hegla 36-6100-1870 Glass Stop (VAP 150x100x14mm) 7 H11
Hegla 36-6100-2049 Double Grinding Head Shaft 1 H10
Hegla 36-6700-0087 Glass Stopper 4 H5
Hegla 36-6700-0088 Anti Roatation Square 0
Hegla 36-6700-0089 Glass Stopper 6 H5
Hegla 36-6700-0412 20mm Grinding head assembly 0
RS 389-5075 P1A-S016DS-0050 2 H14
DDE brgs 410-5MGT Timing Belt 3 H14
Dundee Bearings 6207-C-2Z C3 Air Floatation Motor Bearings(Fan end) 2 Bottom Bucket
Dundee Bearings 6308-2Z C3 Air Floatation Motor Bearings(Shaft end) 2 Bottom Bucket
Hegla 66-0999-9999 Cable Plug and Connector 1 Top Shelf
DDE Brgns 7.5KW 7.5kw Weg Motor 1 Fowler
Conrad 990780 -89 Bicken PC UPS 2 shelf

BLSP 290RLG Seal cups & clips 7 Shelf
Danvac BSPS.10.175 180RL BLSP Lip Seal 8 H15

E2B-M12KS04-WP-B2 Proximity Sensor 2 H1
LaserLines Flyer Head Marking Head (Recondition) 1 Shelf
LaserLines FSV40 Laser (reconditioned) 1 Under Table
Hegla HG-CM157 Knife Holder 1 H5
Hegla HG-CM158 Clamping Part Knife 1 H5
Dde brgns HGH25CA Linear Bearing 0 H8

HGH25CA20H Linear Bearing 2 H10
Danvac M004642 Vacuum Cup, Half Suction Cup 1 Shelf
Danvac M004643 Vaccuum cup, Half Suction Cup 1 Shelf
Euroweld N/A 16mm Grinding Spacers 5 H10
Euroweld N/A 8mm Grinding Spacers 1 H10
RS P1A-SO16DS-0125 Cylinder 1 H14
EMS Manual Edge Deletion Gun Guide Rollers 8 H14
Ebay SSG10 Siemens Control Panel Key 1 H8
PKA Suds Pump 1 Floor



Type: Date: 01.12.2024
Checked By: AMc

Supplier Code Item Qty Location Alt Supplier
TBS 4205 Bearing 2 Box
DdeeBearings 6204 Bearing 6204 12 Box
TBS 7204 Bearing 7204 0 Box
DdeeBearings 7205 Bearing 7205 18 Box

7206 Bearing 7206 8 Box
DdeeBearings 0530 0X 40X7023 Oil seal 30*40*7 20 Box H5
DdeeBearings 1.12PoleB6IP66 IP66 Motor 0 Box
RS 331-0473 ZPE-101 Push Button (Contact NO) 2 Box
DdeeBearings 4206 2RS Bearing 6 Box
R7M 6002RS Bearing 4 Box
DdeeBearings 6006 2RS C3 Bearing 3 Box
DdeeBearings 6006-2Z Bearings 1 Box
DdeeBearings 6006LU Bearing 6006 1 Box
R&M 6006zz Bearing 1 Box
RS 609-0087 LC1K0601B7 Contactor 0 Box
DdeeBearings 6202Z Bearing 1 Box
PHaw 6204 2rs Bearing (brg 2503) 0 Box
DdeeBearings 7204B 2RS TVP Bearing 0 Box
PHaw 7205 bep Bearing (brg 2510) 7205-B-2RS-TVP1 0 Box
RS 758-709 LC1K0910B7 Contactor 0 Box
PHaw 90L1-2/4 1.7kW Motor 0 Box
PHaw BEL2663 Belt Input/Output FPS15S9 35T7/8 0 Box
PHaw BRRF 4010 BRRF 4010 Ring to Hold Arriss Shroud 1 Box
PHaw ELSB3015 3 Pos/2 Speed Switch 1 Box
Mont E k21R-90L-4-2 3 phase, 2 speed motor 0 Box
PHaw NBWA1250 Arris Polish Washer 0 Box
PHaw NBWA1271 Cerium Felt Nut 1 Box
PHaw NBWA1282 Ring Nut 1 Box
PHaw NBWA1295 Nylos Ring 4205VV Ring 1 Box
PHaw OMC09C1673 Pneumatic Cylinder 0 Box
Phaw PNCY1010 Break Pads (polishing wheel) 1 Box

PNVA3030 Sloide Valve Codice 1 Box 1 used
S201P01411 Brush Brackets 1 Box
S203FL382 Flat Polish Plate 0 Box

PHaw SC1223 Back Arris Diamond Nut 0 Box
Phaw SCH1013 WPFI Water Flat Diamond complete pipe 0 Box
PHaw SCH1023 Water Pump 0.33HP 1 Shelf
Phaw SCH1045 BRRF ring c57/8 drg 3b/27 2b/5 LH(front) 0 Box
PHaw SCH1047 BRRF ring c57/8 drg 3b/27 2b/5 rht(rear) (Arriss) 2 Box 1 used
PHaw SCH1048 BRRF ring c75/6 drg 4b/18 rht codice (Wheel 7) 1 Box
PHaw SCH1053 Arris Polish Plate 1 Box
PHaw SCH1054 Full Set of Brushes(3front, 3back, 2angle) 2 Box 1 incomplete
Phaw SCH1056 Flat Polish Base Plate 1 Box
PHaw SCH1065 Splined Guide 1 Box
PHaw SCH1066 GPSP Cog Wheel DRG14/2A C44 1 Box
Phaw SCH1069 Arriss Polish Lift 2 Box
PHaw SCH1070 Flat Polish Lift Cylinder 1 Box

SCH1077 Pressure Regulator 0 Box
PHaw SCH1078 L14 MD Lubricator 0 Box
PHaw SCH1086 Polish Lift Brake 1 Box
Phaw SCH1091 Shroud Flat Polish 0 Box
Phaw SCH1093 Aluminium Shroud Arris Wheel 4 Box
Phaw SCH1096 Arris Diamond Front Shaft 0 Box
PHaw SCH1098 Diamond Winding Handle 2 Box
Schiat SCH1104 Nylon roller (for glass sensor) 4 Box

SCH1207 Comparator Flat/Back 1 Box
PHaw SCH1215 Comparator Front Axis 1 Box

SCH1215 Comparator Front/Arris 1 Box
PHaw SCH1223 Flat Polish Nut 1 Box

Ravensby Glass Engineering Stock Take

Schiatti Angelo



PHaw SCH1224 Nut All Front Arris Polish RHT 1 Box
PHaw SCH1225 Back Arris Polish Nut 1 Box
PHaw SCH1226 Front Arris Diamond Nut 1 Box
PHaw SCH1228 Flat Diamond Nut 1 Box
PHaw SCH1236 Front Arris Polish Nut 0 Box
PHaw SCH1255 rubber shock absorber 2 Box

SCH1260 Brush Top Track Guard 2 Box
PHaw SCH1265 BRRF Locking Nut 1 Box
PHaw SCH2650 conveyor belt(5 Groove) 2 Store Shelf Ddee Bearings
PHaw SEA2601 Oil seal 30*40*7 0 Box
PHaw SHSP4007 flat polish shaft fps15s7 0 Box

SHSP4035 Shaft Front Arris Polish 1 Box
SHSP4038 Shaft Back Arris Polish 0 Box
SHSP4080 Fescilised Unit 1 Box

PHaw SHSP4080 Guide Flat/Back Front Arris 0 Box
DdeeBearings UM3480G-2B5 Universal Motor 1.1kW 1 Box
PHaw L/H Screws 0 Box
PHaw Arriser height adjusting wheel 0 Box
PHaw motor to assembly coupling M24 2 Box
PHaw Brass Locking Nut 0 Box
PHaw Front Arriss Guide 0 Box
PHaw Coupling 65x55x45 0 Box

Track Pins 2 Box


	Ashton Stock Holding
	Bottero - Stone & Glass Group Stock Holding
	Bottero Stock Holding
	Bystronic Stock Holding
	Forel Commercial Stock Holding
	Forel Domestic Stock Holding
	Glaston Stock Holding
	Hegla Stock Holding
	Schiatti Stock Holding

